DRAERE  FRR AR ARIXELUKM R (EA2HX) K AR ERER () i R

PR R R4.4.12 R1.5.19 R1.6.13 R4.7.12 R1.8.18 R4.9.12 R4.10.13 R4.11.14 R4.12.12 R5.1.19 R5.2.13 R5.3.13 i fE Sy HifiL
o L i i &Y i 5} i &Y 5] 5} &Y i i
BEE [ i 2y (Y 2y i 2y (Y [ fin ifi (Y

E [ 22.5 24.0 21.0 29.0 26.5 28.0 20.5 14.0 10.0 7.5 9.0 7.0 29.0 7.0 18.3 C
P [ 15.7 19.1 22.7 28.2 29.1 27.5 20.6 16.2 118 8.1 7.0 10.8 29.1 7.0 18.1 C
1| [ il 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fi5/mo

PRES 15 i AR A A g i A A g i A i A (-) (-) (—)
sl F 2 v on R W 2 0 & Y — — — — 0.0003 A — — - — — — — — — 0.0003 A mg/0
1k B R B x o A& B — — — — 0.00005 4]l — — - — — — — — — 0.00005 A4l mg/ 0
5| v v R U %X o {k & B — — — — 0.00 1Al — — — — — — — — — 0.001 A mg/ 0
6 |4 % 9 % [2) it a L — — — — 0.00 1Al — — - — — — — — — 0.001 Al mg/ 0
e % R U2 o & B — — — — 0.001 A — — - — — — — — — 0.001 Al mg/0
8 |~ ] U i A it & i — — — — 0.002Aj — — — — — — — — — 0.002A mg/0
9 | ;] i i e # — — — — 0.004 — — — — — — — — — 0.004A mg/0
0| 7 v e A4 v & O kv 7 v — 0.001 A — — 0.001 A — — 0.001 A - — 0.001 A — 0.00 1Al 0.00 LA 0.00 1Al me/0
NEEEEE Y Y T - 0.5 - - 0.5 - - 0.5 - - 0.6 — 0.6 0.5 0.5 mg/0
12z v % K O % o & & B — 0,08 - -~ 0.084it] - — 0.08Aj — -~ 0.09 — 0.09 0.08Aj 008K mg/0
Blx v % kK v o { & B — — — — 0.02K# — — - — — — — — — 0.02K# mg/Q
14 [ [ it B3 # - - — — 0.00024ij — — - - — — — — — 0.00024i mg/0
15 |1 , 4- v %+ * k2 % — - — — 0005 — — - — — — — — — 0.005A4ili mg/0
16 [¢2-1, -v7umzFL L R ORI A1, 2-Y/naxFL o — — — — 0.004 A3 — — — — — — — — — 0.004 A mg/0
17 |[v s o o * K > — — — — 0.00244l — — — — — — — — — 0.002 A4 mg/ 0
sl ~ 5 7 ©m o =® = F L — - — — 0.00 1A — — - - — - — — — 0.001 K mg/0
19 |k Yy U o o B F | b — — — — 0.00 1Al — — — — — — — — — 0.00 1A mg/0
20 [~ v + b — — — — 0.00 1Al — — — — — — — — — 0.00 1A mg/0
21 |4 # i - 0.06 A — — 0.23 — — 0.06A - — 006K — 0.23 0.06A 0064 mg/0
22 [~ = o i i — 0.002A]i — — 0.002A:4 — — 0.002A]i - — 0.002A:4 — 0.00244il 0.002Ai 0.00244li mg/0
23 |7 o & & v 2 - 0.011 — — 0.017 — — 0.0064: 7 - — 0.006 A — 0.017 0.006A ] 0.007 mg/0
24 v s o & i i - 0.004 — — 0.003 A — — 0.003A] — — 0.004 — 0.003 A 0.003 A 0.003 A4l mg/0
%y 7 v = s m o om x4 — 0.010 — — 0.017 — — 0.012 - — 0.006 — 0.017 0.006 0.011 mg/0
26 |5t % i — 0.001 A — — 0.001 A — — 0.001 A - — 0.001 A — 0.00 1Al 0.00 1A 0.00 1Al mg/0
27 [ 3 Y ~ o A 4 % — 0.03 — — 0.06 — — 0.03 - — 0.02 — 0.06 0.02 0.04 mg/0
28 [} ] 7 =] o i i - 0.007 — — 0.004 — — 0.003A]i - — 0.003 A — 0.007 0.003A]i 0.003 A4l mg/0
w|lr v = v s wm w2 oz — 0.012 — — 0.018 — — 0.009 - — 0.006 — 0.018 0.006 0.011 mg/0
30 |7 =] = * v 2 — 0.005A]i — — 0005 — — 0.005A]i - — 0005 — 0.005A4ili 0.005 A 0.005A4ili mg/0
K — 0.008 A — — 0.008 A — — 0.008Aii - — 0.008 A — 0.008 Al 0.008 A 0.008 Al mg/0
L] — — — — 0.01 A7l — — — — — — — — — 0.01 A7l mg/0
L — 0,024 — — 0.06 — — 0,024 - — 0.02K# — 0.06 0,024 0.02K# mg/0
L — 0.03 A4 — — 0.03Ai5 — — 0.03 A4 - — 003K — 003K 0.03 A4 003K mg/0
L] — — — — 0.01 A7l — — — — — — — — — 0.01 Al mg/0
L7} — — — — 14 — — — — — — — — — 14 mg/0
L — 0.005 A — — 0005 — — 0.005A]i - — 0005 — 0.005A4ili 0.005 A 0.005A4ili mg/0
V] 13 15 20 19 19 15 16 17 20 17 16 12 20 12 17 mg/0
(i) - 11 - - 39 - - 38 - - 28 - 41 28 37 mg/0
[ - 90 - - 90 - - 80 - - 90 - 90 80 88 mg/0
# - - - — 0.02K# — — - — — — -~ — — 0.02K# mg/0
~| 0.000001 0.000002 0.000004 0.000003 0.000002 0.000002 0.000002 0.000002 0.000001 - — - 0.000004 0.00000 1 A 0.000002 mg/0
/] 0.000001K0# | 0.000001Ki# | 0.000001Ai# | 0.000001A4# | 0.0000014H# | 0.0000014# | 0.0000014i# | 0.0000014i# | 0.000001 4k — — — 0.000001A:f# | 0.000001K# | 0.000001 A me/0
#l — — — — 0.005A4ili — — — — — — — — — 0.005A mg/0
45 |7 = J — v i — — — - 0.00054i - - - - - - - — — 0.00054 mg/0
46 |71 (&2 7R K (TOC) O H) 0.4 0.5 0.9 0.4 0.6 mg/0

47 [p H i 7.3 7.5 7.9 7.3 7.6

48 IS Sl HiL
49 |5 Al ; HiL

50 [ B JESG] LA LR LA LR LA LR i3
51 | £ 0. 1At 0. 1At 0. 1At 0. 1At 0. 1K 0. 14 0. 1A 0. 14 0. 1A 0. 1A i3
7% ] [ # 0.3 0.2 0.3 0.4 0.4 0.4 0.4 0.4 0.2 0.3 mg/0




DRIAENE  AE K (IR

(A3 ) #e Kk B ERER () RS

FAREH R R1.4.12 R4.5.19 R1.6.13 R1.7.12 R4.8.18 R1.9.12 R4.10.13 R4.11.14 R4.12.12 R5.1.19 R5.2.13 R5.3.13 IR i fiel ) Hifr
o [ wim i i &Y i ] i &Y 5} ] &Y i i
IET i [0 2 D) 2 [0 2 D) i [0 ifi D)
E i 23.5 25.5 21.5 28.3 27.5 30.0 21.5 14.2 115 8.0 9.0 8.5 30.0 8.0 19.1 C
P i 15.8 18.5 20.1 24.6 25.1 25.2 20.2 17.5 14.0 11.1 7.5 12.0 25.2 7 17.6 C
1| % il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fiEl/me
PRES 15 i R A g i A A g i A i A A (-) (—) (-)
s F 3 v oa R U Z 0 A& WY — — — — 0.0003 A — — - — — — — — — 0.0003 A ng/0
1k B/ R U oz o & & P — — — — 0.00005Ai — — - — — — — — — 0.00005Ai ng/0
5|2 v v R OV %2 o kb & B — — — — 0.00 1A — — — — — — — — — 0.001 A ng/0
6lsn R ¥ 2 o A& B - - — — 0.001 - — - - — - — — — 0.001 mg/0
Tl % R U x2 o & B — — — — 0.001 A — — - — — — — — — 0.00 1A mg/0
8 |~ i s o N & 0w - — — — 0.002A]i — — - — — — — — — 0.002Ai ng/0
9 | I} i3 i e * - — — — 0.004A]i — — - — — — — — — 0.004A]i ng/0
0| 7 v b A4 v R OHEH LY 7 v — 0.00 1Al — — 0.001 A - — 0.001 A - — 0.001 A — 0.00 LA 0.00 1Al 0.00 1A ng/0
N EEFEYE YT EE - 0.5 - - 0.5 - - 0.2 - - 0.5 — 0.5 0.2 0.4 mg/0
127 v £# kK ® % o { A& B — 0.08AKi# — — 0.10 - — 008K — - 0.09 — 0.10 0.084it] 0,08 ng/0
Blx v % kB ¥ o £ A& B — — — — 0,024 — — - — — — — — — 0,024 ng/0
14 |0 i (4 I3 % - — — — 0.0002A:]i — — - — — — — — — 0.0002Ai ng/0
15 |1 1- v + ¥ i v — — — — 0.005 A — — — — — — — — — 0.005A: 4w ng/0
16 AL AT T 7 =1, v 7= 7 7 — - UﬂU‘iK'}% o o o - o - o o . UﬂU‘iK'}% mg,/Q
17 |2 7 o o A 4 v — — — — 0.002Ai — — — — — — — — — 0.002A: 4 ng/0
B8l +~ 3 v wm w = F L — — — — 0.001 A4 — — — — — — — — — 0.001 A0 mg/0
wlr v o7 mr B =z F v — — — — 0.00 1A — — — — — — — — — 0.00 LA ng/0
20 |~ P2 + P — — — — 0.00 LA — — — — — — — — — 0.001 A ng/0
21 |4 ES it — 0064 — — 0.09 - — 006K - — 0.06A — 0.09 0064 0.06A ng/0
22 |7 = 5 i A — 0.002A:4 — — 0.002A]i - — 0.002A:4 - — 0.002A]i — 0.002Ai 0.00244li 0.002Ai ng/0
23 |2 o o 7+ v IS — 0.011 — — 0.014 - — 0.006 A - — 0.006A]i — 0.014 0.006 A 0.006 mg/0
24 [v s o & i3 A — 0.003 A — — 0.003 - — 0.003 A — — 0.004 — 0.004 0.003 A 0.003 A ng/0
»w|ly 7 m o= v m o owm A H v — 0.008 — — 0.015 — — 0.008 — — 0.005A: 4 — 0.015 0.005A 0.008 ng/0
26 |5t * it — 0.001 A — — 0.001 A - — 0.001 A - — 0.001 A — 0.00 1A 0.00 1Al 0.00 1A ng/0
27 [ 3 ] ~ = A 4 > — 0.03 — — 0.05 - — 0.02 - — 0.01 — 0.05 0.01 0.03 mg/0
28 [k y U o o i A - 0.006 — — 0.004 — — 0.003 A - — 0.003A]i — 0.006 0.003 A 0.003 A ng/0
w|[7 v = v s w w2 ¥ v — 0.012 — — 0.017 - — 0.006 - — 0.004 — 0.017 0.004 0.010 mg/0
30 [7 =] = * v 2 — 0.005 A — — 0.005A i - — 0005 - — 0.005A]i — 0.005 A 0.005A4ili 0.005 A ng/0
31 | v N 7 v 7 k — 0.008 A — — 0.008Aii - — 0.008 A - — 0.008A]i — 0.008 A 0.008 Al 0.008 A ng/0
2l % Kk O o k A& @ — — — — 0.01 A — — - — — — — — — 0.01 A ng/0
B|7 I =y AR E O AEW - 0.02K# — — 0.06 - — 0.02K# - — 0,024 — 0.06 0.02K# 0.02A4 ng/0
34 |8k R ¢ & o & o — 003K — — 0.03 A4 - — 0.03Ai5 - — 0.03 A4 — 0.03 A4 003K 0.03 A4 ng/0
35 |8 R vz R4 & o — — — — 0.0 1A — — — — — — — — — 0.0 1A ng/0
36|77 P U v oA R U E O A Y — — — — 13 — — — — — — — — — 13 mg/0
3|~ v H v R VO o b A W - 0.005A4ili — — 0.005A i - — 0005 - — 0.005A]i — 0.005 A 0.005A4ili 0.005 A ng/0
: 23 15 19 12 18 14 9.9 15 18 12 12 12 23 9.9 15 mg/0
- 40 - - 38 - - 38 - - 22 - 10 22 35 mg/0
- 80 - - 90 - - 80 - - 80 - 90 80 83 mg/0
— — — — 0.0244l — — — — — — — — — 0.024 ng/0
12 v = * Z 3 > 0.000002 0.000003 0.000004 0.000002 0.000002 0.000002 0.000001 0.000002 0.000001 - - - 0.000004 0.000001 0.000002 mg/0
4312- A F M A Y K v xS — s 0.000001A | 0.000001AiH | 0.000001 A 0.000001 0.0000014J# | 0.00000147# | 0.000001j# | 0.000001%Ki# | 0.000001 K — — - 0.000001 0.000001A# | 0.000001 A ng/0
4“4k 4 & v R oom W A - — — — 0.005A ] — - - — — — - — — 0.005 A ng/0
45 [7 = / — v % - — - - 0.0005 4 - - - - - - - — — 0.0005£: mg/0
6 T (2R KRE(TOC) O i) 0.6 0.6 0.6 0.6 0.4 0.9 0.4 0.6 mg/0
47 [p H it 7.6 7.2 7.5 7.5 7.3 7.6 7.1 7.4
48 3 gl Rl Hiial Hiial ;7
49 |5 S Ll 7 AL ;.
50 [ 3 LR LA LR LA LA LR LA LR LA i3
51 | 3 0. 1At 0. 1At 0. 1K 0. 1A 0. 1A 0. 1A 0. 1At 0. 1A 0. 14 0. 1A 0. 1A 0. 1At i
7% # [ # 0.4 0.3 0.3 0.4 0.4 0.4 0.4 0.5 0.4 0.5 0.3 0.4 mg/0




DR PSRk PIXELUKIMR  CRAMIR O #E /K /KB R (M) #l R

FAREH R R4.4.12 R1.5.19 R1.6.13 R4.7.12 R1.8.18 R4.9.12 R4.10.13 R4.11.14 R4.12.12 R5.1.19 R5.2.13 R5.3.13 i fE Sy HifiL
o [ wim i i &Y i 5} i &Y 5] 5} &Y i i
[ wn [ i 2y (Y 2y i 2y (Y [ i ifi (Y
E [ 21.5 21.8 20.5 27.5 26.5 30.0 20.0 14.3 10.0 6.0 7.5 7.5 30.0 6.0 17.8 C
P [ 15.1 18.8 22.5 26.9 28.1 27.0 22.1 18.2 14.5 10.6 9.1 11.8 28.1 9.1 18.7 C
1| [ il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fi5/mo
PRES 15 i AR A A A A g i A A A A A (—) (-) (-)
3 |» B 0 %2 o &t & B — — — — 0.0003 A — — - — — — — — — 0.0003 A mg/0
1 |k z o kb & B — — — — 0.00005 4]t — — -~ — — — — — — 0.000054 i mg/0
5 |t Oz o ke A& B — — — — 0.001 Al — — — — — — — — — 0.001 A mg/0
6 |8 3 2 it a L — — — — 0.001 A — — - — — — — — — 0.00 1Al mg/0
7 |e . x o A& W - - — — 0.00 1A — — —~ — — — — — — 0.001 A mg/0
8 |~ =3 it & ) — — — — — — — — — — — — — 0.0024) mg/0
9 | [23 % ES — — — — — — — — — — — — — 0.004 A mg/0
0l 7ok A4 v kR OCH ALY 7 v — 0.001 A — — 0.001 A — — 0.001 A - — 0.001 A — 0.001 Al 0.00 1A 0.00 1Al me/0
NEEEEEREE T T - 0.5 - - 0.5 - - 0.6 - - 0.6 — 0.6 0.5 0.6 mg/0
2z v % kR O % o & & B — 0,08 - -~ 0.084it] - - 0.08Aj — -~ 0.10 — 0.10 0.08Aj 008K mg/0
Bl v % kK ¥ x o k& & B — — — — 0.02K# — — - — — — — — — 0.02K# mg/0
14 |0 i 3 * - — — — 0.0002Aiti — — - — — — — — — 0.0002 i mg/0
15 |1 , 4- v ¥ i b — — — — 0.005A4ili — — — — — — — — — 0.005A mg/0
16 [¢=-1, -V FL L RN L A1, 2-YranzFL — — — — 0.004 A — — — — — — — — — 0.004 A mg/0
17 |[¥ s = [ * 5 v — — — — 0.00244li — — — — — — — — — 0.002A mg/0
8l ~ 3 7 m o m = F L v — — — — 0.001 Al — — — — — — — — — 0.00 1A mg/0
19 [} y 7 =w w =z F v — — — — 0.001 Al — — — — — — — — — 0.001 A mg/0
20 [~ v ¥ b — — — — 0.001 Al — — — — — — — — — 0.00 1A mg/0
21 |4 # i — 0.06 A — — 0.16 — — 0.06A - — 0064 — 0.16 0.06A 0064 mg/0
22 [~ o o i i — 0.002A]i — — 0.002A:4 — — 0.002A]i - — 0.002A: — 0.00244l 0.002Ai 0.00244il mg/0
23 [~ o 5 * v 2 — 0.012 — — 0.024 — — 0.007 - — 0.006 — 0.024 0.006 0.012 mg/0
24 [V U o i it i - 0.005 — — 0.003 A — — 0.003A]i — — 0.005 — 0.005 0.003A]i 0.003 A4l mg/0
Bl 7 w = s m o owm A 4 Y — 0.010 — — 0.021 — — 0.013 - — 0.007 — 0.021 0.007 0.013 mg/0
26 |5t % i — 0.001 A — — 0.001 A — — 0.001 A - — 0.001 A — 0.001 Al 0.00 1A 0.00 1Al mg/0
27 [ 3 Y ~ o A 4 % — 0.04 — — 0.07 — — 0.03 - — 0.02 — 0.07 0.02 0.04 mg/0
28 [} Y G & o i3 i — 0.009 — — 0.004 — — 0.003A]i - — 0.003 A — 0.009 0.003A]i 0.003 mg/0
w|l7r v = v s wm owm oz oz Y — 0.012 — — 0.024 — — 0.011 - — 0.007 — 0.024 0.007 0.014 mg/0
30 |7 = B3 * v 2 — 0.005A]i — — 0005 — — 0.005A i - — 0005 — 0.005A4ili 0.005 A 0.005A4ili mg/0
31 | v N 7 v 7 t K — 0.008Aii — — 0.008 A — — 0.008Aii - — 0.008 A — 0.008 Al 0.008 A 0.008 Al mg/0
2l K ¥ 2 o b & By — — — — 0.0 Al — — — — — — — — — 0.0 LA mg/0
B|I7 v I = AR VT E DAY — 0,024 — — 0.06 — — 0,024 - — 0.02K# — 0.06 0,024 0.02K# mg/0
34 |8k % 9 % [2) 4 a L — 0.03 A4 — — 0.03Ai5 — — 0.03 A4 - — 003K — 003K 0.03 A4 003K mg/0
B8 & v x o kAW - - — — 0.0 LA — — - - — — — — — 0.0 LA mg/0
6|7 F VU Y oA RV ZE 0 LA P - - — — 15 — — - - — - — — — 15 mg/0
3|~ v A v kOB o & By — 0.005A]i — — 0005 — — 0.005A i - — 0005 — 0.005A4ili 0.005 A 0.005A4ili mg/0
38 [ it [ A * V] 12 15 21 19 19 16 16 17 21 18 17 12 21 12 17 mg/0
VYU N S xRy A% (W E) - 11 - - 42 - - 39 - - 30 - 42 30 38 mg/0
% 7% ] [ - 90 - - 100 - - 70 - - 90 - 100 70 88 mg/0
N - - - - 0024 -~ - - - -~ — — — — 0024 mg/0
= * 2 2 ~| 0.000001 0.000002 0.000004 0.000004 0.000002 0.000002 0.000002 0.000002 0.000002 - - - 0.000004 0.000001 0.000002 mg/0
4312- A F A A Y R v Fx A — | 0.000000Kii# | 0.000001Ai# | 0.000001Afw | 0.000001Kijw | 0.000001Aj# | 0.000001 A | 0.000001AKii# | 0.000001Ai# | 0.00000 14 — — — 0.000001Aif§ | 0.000001Aiii | 0.000001Aj me/0
I - - - - 0.0054i -~ - - - -~ — — — — 0.0054i mg/0
45 |7 e / — v # — — — — 0.0005Ai — — — — — — — — — 0.0005Aiti mg/0
WY (AR E(TOC) 0 k) 0.7 0.6 0.7 0.4 0.9 0.4 0.7 mg/0
47 [p H i 7.9 7.9 7.8 7.4 8.3 7.3 7.7
48 4 L Hiial Higial
49 |5 Al Ll AL
50 [ B LR LA LR LA LA LA LR LA LA i3
51 | £ 0. 1At 0. 1K 0. 1A 0. 1A 0. 1A 0. 1At 0. 1At 0. 1K 0. 14 0. 1A 0. 1A i3
7% ] i # 0.3 0.2 0.2 0.2 0.3 0.3 0.3 0.3 0.3 0.2 0.3 mg/0




DRAERE R AR kY PIKELKIM R (O M) AEsK KB R () il R

FAREH R R4.4.12 R1.5.19 R1.6.13 R4.7.12 R1.8.18 R4.9.12 R4.10.13 R4.11.14 R4.12.12 R5.1.19 R5.2.13 R5.3.13 i fE Sy HifiL
o [ wim i i &Y i 5} i &Y 5] 5} &Y i i
[ wn [ i 2y (Y 2y i 2y (Y [ i ifi (Y
E [ 21.3 20.5 21.0 27.0 26.5 30.0 20.0 14.5 9.0 5.5 7.0 8.0 30.0 5.5 17.5 C
P [ 14.1 17.3 20.5 25.6 26.5 25.8 22.1 16.4 12.3 8.6 7.5 10.6 26.5 7.5 17.3 C
1| [ il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fi5/mo
PRES 15 i AR A A A A g i A A A A A (—) (-) (-)
3 |» B 0 %2 o &t & B — — — — 0.0003 A — — - — — — — — — 0.0003 A mg/0
1 |k z o kb & B — — — — 0.00005 4]t — — -~ — — — — — — 0.000054 i mg/0
5 |t Oz o ke A& B — — — — 0.001 Al — — — — — — — — — 0.001 A mg/0
6 |8 3 2 it a L — — — — 0.001 A — — - — — — — — — 0.00 1Al mg/0
7 |e . x o A& W - - — — 0.00 1A — — —~ — — — — — — 0.001 A mg/0
8 |~ =3 it & ) — — — — — — — — — — — — — 0.0024) mg/0
9 | [23 % ES — — — — — — — — — — — — — 0.004 A mg/0
0l 7ok A4 v kR OCH ALY 7 v — 0.001 A — — 0.001 A - — 0.001 A - — 0.001 A — 0.001 Al 0.00 1A 0.00 1Al me/0
NEEEEEREE T T - 0.5 - - 0.3 - - 0.5 - — 0.6 — 0.6 0.3 0.5 mg/0
2|7 v # kK O 2 o { & B — 0.08Aj — — 0.11 — — 0.08 — — 0.09 — 0.11 0.08Aj 0.084it] mg/0
Bl v % kK ¥ x o k& & B — — — — 0.02K# — — - — — — — — — 0.02K# mg/0
14 |0 i 3 * - — — — 0.0002Aiti — — - — — — — — — 0.0002 i mg/0
15 |1 , 4- v ¥ i b — — — — 0.005A4ili — — — — — — — — — 0.005A mg/0
16 [¢=-1, -V FL L RN L A1, 2-YranzFL — — — — 0.004 A — — — — — — — — — 0.004 A mg/0
17 |[¥ s = [ * 5 v — — — — 0.00244li — — — — — — — — — 0.002A mg/0
8l ~ 3 7 m o m = F L v — — — — 0.001 Al — — — — — — — — — 0.00 1A mg/0
19 [} y 7 =w w =z F v — — — — 0.001 Al — — — — — — — — — 0.001 A mg/0
20 [~ v ¥ b — — — — 0.001 Al — — — — — — — — — 0.00 1A mg/0
21 |4 # i — 0.06 A — — 0.15 - — 0.06A - — 0064 — 0.15 0.06A 0064 mg/0
22 [~ o o i i — 0.002A]i — — 0.002A:4 - — 0.002A]i - — 0.002A: — 0.00244l 0.002Ai 0.00244il mg/0
23 |7 o 5] * v 2 — 0.014 — — 0.027 — — 0.006A ] - — 0.006 A — 0.027 0.006A]i 0.010 mg/0
24 [V U o i it i - 0.003A]i — — 0.003 A - — 0.003A]i — — 0.004 — 0.004 0.003A]i 0.003 A4l mg/0
%Y 7 w o ® s m o ow A F v — 0.010 — — 0.019 — — 0.011 — — 0.005Aj — 0.019 0.005A: 4 0.010 mg/ 0
26 |5t % i — 0.001 A — — 0.001 A - — 0.001 A - — 0.001 A — 0.001 Al 0.00 1A 0.00 1Al mg/0
27 [ 3 Y ~ o A 4 % — 0.04 — — 0.07 - — 0.03 - — 0.02 — 0.07 0.02 0.04 mg/0
28 [} Y s = o i3 i — 0.003A]i — — 0.006 - — 0.003A]i - — 0.003 A — 0.006 0.003A]i 0.003 A4l mg/0
w|l7r v = v s wm owm oz oz Y — 0.014 — — 0.024 - — 0.009 - — 0.005 — 0.024 0.005 0.013 mg/0
30 |7 = B3 * v 2 — 0.005A]i — — 0005 - — 0.005A i - — 0005 — 0.005A4ili 0.005 A 0.005A4ili mg/0
31 | v N 7 v 7 t K — 0.008Aii — — 0.008 A - — 0.008Aii - — 0.008 A — 0.008 Al 0.008 A 0.008 Al mg/0
2l K ¥ 2 o b & By — — — — 0.0 Al -~ — — — — — — — — 0.0 LA mg/0
B|I7 v I = AR VT E DAY - 0.03 — — 0.02:Ait5 - — 0,024 - — 0.02K# — 0.03 0,024 0.02K# mg/0
34 |8k % 9 % [2) 4 a L — 0.03 A4 — — 0.03Ai5 - — 0.03 A4 - — 003K — 003K 0.03 A4 003K mg/0
B8 & v x o kAW - - — — 0.0 LA -~ — - - — — — — — 0.0 LA mg/0
60 U v oA KOO Z o kb & W — — — — 14 — — — — — — — — — 14 mg/0
3|~ v A v kOB o & By — 0.005A]i — — 0005 - — 0.005A i - — 0005 — 0.005A4ili 0.005 A 0.005A4ili mg/0
38 [ it [ A * V] 13 15 20 19 18 15 16 16 20 17 14 12 20 12 16 mg/0
VYU N S xRy A% (W E) - 35 - - 44 - - 37 - - 28 - 44 28 36 mg/0
% 7% ] [ - 80 - - 100 - - 70 - - 90 - 100 70 85 mg/0
N - - - - 0024 -~ - - - -~ — — — — 0024 mg/0
= * 2 2 ~| 0.000001 0.000002 0.000004 0.000003 0.000002 0.000002 0.000002 0.000001 0.000001 - - - 0.000004 0.000001 0.000002 mg/0
4312- A F A A Y R v Fx A — | 0.000000Kii# | 0.000001Ai# | 0.000001Afw | 0.000001Kijw | 0.000001Aj# | 0.000001 A | 0.000001AKii# | 0.000001Ai# | 0.00000 14 — — — 0.000001Aif§ | 0.000001Aiii | 0.000001Aj me/0
I - - - - 0.0054i -~ - - - -~ — — — — 0.0054i mg/0
45 |7 e / — v # — — — — 0.0005Ai — — — — — — — — — 0.0005Aiti mg/0
WY (AR E(TOC) 0 k) 0.8 0.6 0.7 0.4 0.9 0.4 0.7 mg/0
47 [p H i 8.1 7.9 7.7 7.4 8.3 7.3 7.7
48 4 L Hiial Higial
49 |5 Al Ll AL
50 [ B LR LA LR LA LA LA LR LA LA i3
51 | £ 0. 1At 0. 1K 0. 1A 0. 1A 0. 1A 0. 1At 0. 1At 0. 1K 0. 14 0. 1A 0. 1A i3
7% ] i # 0.3 0.1 0.2 0.3 0.3 0.3 0.4 0.4 0.4 0.1 0.3 mg/0




DR R IR KYs A KBRS (B ) #5/K BB (A #l R

TAREA R R4.4.14 R1.5.23 R1.6.14 R4.7.14 R1.8.22 R4.9.13 R4.10.17 R4.11.15 R4.12.13 R5.1.23 R5.2.14 R5.3.14 i fE Sy HifiL
o [ win [ i 2y (Y 2y i [ (Y [ (Y ifi (Y
[ un ifi i ifi i [ (Y ifi i [ (Y 2y i
E [ 15.0 23.5 20.0 24.5 32.0 29.0 18.0 14.5 11.0 6.0 5.5 11.0 32.0 5.5 17.5 C
P [ 17.4 20.8 22.9 27.3 27.5 27.6 21.8 17.4 12.8 9.7 8.6 12.0 27.6 8.6 18.8 C
1| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fi5/mo
PRES RErH g i g A g i g i A A A (-) (-) (-)
3 |# L — — — — 0.0003 A — — - — — — — — — 0.0003 A mg/ 0
1 |k L — — — — 0.00005 4]l — — - — — — — — — 0.00005 4]l mg/Q
5 |t L — — — 0.001 A — — — — — — — — — 0.00 1Al mg/Q
6 |4 L — — — — 0.001 A — — - — — — — — — 0.00 1Al mg/0
7 | L — — — — 0.001 A — — - — — — — — — 0.00 1Al mg/0
8 |~ ) — — — — — — — — — — — — — 0.0024) mg/0
9 | il [23 5 £ F# — — — — — — — — — — — — — 0.004 mg/ 0
0l 7 vk A4 v k Oy 7 v — 0.001 A — — 0.001 A — — 0.001 A - — 0.001 A — 0.00 1Al 0.00 1A 0.00 1Al me/ 0
NEEEEEREE TR T - 0.5 - - 0.6 - - 0.4 - - 0.6 — 0.6 0.4 0.5 mg/0
12l v % kR O % o {k & B — 0.08 A — -~ 0.10 - — 0.08 A — -~ 0.09 — 0.10 0.08Aj 0.08A# mg/ 0
Bk v % K ¥ x o & & B — — — — 0.02K# — — - — — — — — — 0.02K# mg/Q
14 [ H 3 ES — - — — 0.0002Aiti — — - — — — — — — 0.0002 i mg/Q
15 |1 , 4- v ¥ k2 v — - — — 0005 — — - — — — — — — 0.005A4ili mg/0
16 [v=-1, 2-vrnnxFL RN 21, 2-Y/unTF Ly — — — — 0.004 A1 — — — — — — — — — 0.004 A mg/0
17 |2 s = [ * 5 v — — — — 0.00244l — — — — — — — — — 0.0024 mg/0
8l v 3 7 =m &w = F L Y — — — — 0.001 K — — — — — — — — — 0.001 A mg/Q
Wik Vs v m = F LY — — — — 0.00 1Al — — — — — — — — — 0.001 A4 mg/Q
20 [~ v + b — — — — 0.00 1Al — — — — — — — — — 0.00 1A mg/0
21 |4 ES i — 0.06A — — 0.12 — — 0.06A - — 0064 — 0.12 0.06A 0064 mg/ 0
22 |7 = =] i3 i — 0.002A]i — — 0.002A: — — 0.002A]i - — 0.002A:4 — 0.00244l 0.002Ai 0.00244li mg/0
23 |7 o & & v 2 - 0.011 — — 0.022 — — 0.006£: 1 - — 0.006 A — 0.022 0.006A]i 0.008 mg/0
24 [v s o & i i — 0.003A] — — 0.003 A — — 0.003A] — — 0.003 — 0.003 0.003A] 0.003 A4l mg/ 0
%Y 7 w = s moom X H v — 0.012 — — 0.014 — — 0.010 — — 0.005A — 0.014 0.005A: 4 0.009 mg/0
26 |5t * i — 0.001 A — — 0.001 A — — 0.001 A - — 0.001 A — 0.00 1Al 0.00 1A 0.00 1Al mg/ 0
27 [ b ] ~ " A 4 % — 0.04 — — 0.06 — — 0.02 - — 0.01 — 0.06 0.01 0.03 mg/0
28 | b Y U o o i3 i — 0.003 — — 0.007 — — 0.003A]i - — 0.003 A — 0.007 0.003A] 0.003 A4l mg/ 0
297 =w = v s w o owm A Ky — 0.013 — — 0.019 — — 0.007 - — 0.005 — 0.019 0.005 0.011 mg/0
30 [7 =] = * v 2 — 0.005A]i — — 0005 — — 0.005A]i - — 0.005 A — 0.005A4ili 0.005 A 0.005A4ili mg/ 0
31 | v N 7 v 7 t K — 0.008A]i — — 0.008 A — — 0.008Aii - — 0.008 A — 0.008 Al 0.008 A 0.008 Al mg/ 0
2l K O . o & & W — — — — 0.0 1K — — - — — — — — — 0.0 1K mg/0
B7 v I = v L kRO E O AW — 0.02 — — 0.04 — — 0.02A - — 0.02K# — 0.04 0,024 0.02K# mg/ 0
34 |8k % 9 % 2 (4 a [ — 0.03 A4 — — 0.03Ai5 — — 0.03 A4 - — 003K — 003K 0.03 A4 003K mg/ 0
35 |4 % 9 % 2 (4 a L — — — — 0.0 1K — — - — — — — — — 0.0 1K mg/Q
6|7 Y v oA RV Z 0 LAWY - - — — 11 — — - - — - — — — 11 mg/0
3|~ v A vy kR OB 2 o b A& W — 0.005A]i — — 0005 — — 0.005A]i - — 0.005 A — 0.005A4ili 0.005 A 0.005A4ili mg/ 0
38 [ it [ K * X 17 19 18 13 16 14 12 17 21 13 13 12 21 12 15 mg/0
VYU A S R Yy N s () — 33 — - 31 - - 45 - - 24 - 45 24 33 mg/0
% 7% ] [ — 70 - - 90 - - 90 - - 90 - 90 70 85 mg/0
4 4 v R ' & A - - - - 0024 -~ - - - -~ - — — — 0024 mg/0
= * A 2 ~| 0.000001 0.000002 0.000004 0.000003 0.000002 0.000002 0.000001 0.000002 0.000001 - - - 0.000004 0.000001 0.000002 mg/0
43[2- A F v A4 Y K v F 4 — | 0.000001AKi | 0.000001 A 0.000001 0.000001 0.000001 4§ | 0.000001Ai | 0.0000014# | 0.000001Ai5 | 0.000001 i — — -~ 0.000001 0.000001 A | 0.00000 1 Aiti mg/ 0
N O A A oA — — — — 0.005 A1 — — — — — — — — — 0.005 A5 mg/0
45 |7 = J — v i — — — - 0.00054i - - - - - - - — 0.00054i mg/ 0
WY (R ABBRE(TOC) o fit) 0.9 0.6 0.4 0.9 0.4 0.7 mg/0
47 [p H i 7.4 7.2 7.2 7 7.1 7.3
48 3 SR Hiial Higial
49 |5 = Sl ;.
50 [ B LR LA LA LA LR LA LR i3
51 | £ 0. 1At 0. 1A 0. 1A 0. 1At 0. 1At 0. 1At 0. 1A 0. 14 0. 1A 0. 1A i3
7% ] [ # 0.3 0.4 0.2 0.4 0.4 0.5 0.3 0.5 0.2 0.3 mg/0




BTAEE R IEOKY,

HLPIFL AR % (RPN A6 /K KB R (R i SR

FAREH R R4.4.4 R4.5.10 R1.6.2 R1.7.19 R1.8.1 R4.9.1 R4.10.3 R4.11.1 R4.12.1 R5.1.10 R5.2.2 R5.3.2 IR i fiel S Hifr
P | HilH 29 i i &Y i i i i i =Y 29 i
IEET i [ i ifi i ifi (Y ifi (Y 2y (Y ifi

e i 11.2 15.6 24.0 25.2 31.0 25.5 22.5 16.5 10.0 6.0 2.5 5.0 31.0 2.5 16.3 C

P i 12.8 19.0 22.7 26.0 29.3 27.1 25.1 18.3 15.2 7.7 5.2 9.6 29.3 18.2 C
1 % il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fiEl/me
PRES 15 i R i A A A i A A A i A i (-) (-) (-)
s|ln F 3 v oa R U Z 0 e WY — - — — 0.0003 A — — - — — — — — — 0.0003 A ng/0
1k B/ R U oz o & & B — — — — 0.00005Ai — — - — — — — — — 0.00005Ai mg/0
5|2 v v R V%2 o kb & B — — — — 0.00 LA — — — — — — — — — 0.001 A ng/0
6 |8 R 0 f & o — — — — 0.001 A — — - — — — — — — 0.00 1A ng/0
e O R U x2 o & B — — — — 0.001 A — — - — — — — — — 0.00 1A ng/0
8 & fi U i A e & 0w — — — — 0.002A]i — — - — — — — — — 0.002Ai ng/0
9 | [ A 1& = Ed - - — — 0.0044i — — - -~ — -~ — — — 00044 ng/0
0| 7 v b A 4 v R OHEHKY 7 v — 0.001 A - — 0.001 A — — 0.001 A — — 0.001 A — 0.00 LA 0.001 Al 0.00 1A ng/0
NCETEEFEYE R YT EE - 0.6 - - 0.5 - - 0.6 - - 0.6 - 0.6 0.5 0.6 mg/0
127 v £# kK ® % o { A& B — 0.08AKi# — — 0.08 - — 0.08Ki# - - 0,08 — 0.08 008K 0.08 A ng/0
Blx v % kB ¥ = o £ A& B — — — — 0,024 — — - — — — — — — 0,024 ng/0
14 |0 i (4 I3 % - — — — 0.0002A:]i — — - — — — — — — 0.0002A ng/0
15 |1 , 1- B %+ * i P — — — — 0.005 A — — — — — — — — — 0.005A i ng/0
16 AL AT T 7 =1, v 7T 7 7 7 - Uﬂ)U‘iK'}% o o o - o - o o . Uﬂ)U‘iK]ﬁ mg,/g
17 |2 7 o o A 4 v — — — — 0.002Ai — — — — — — — — — 0.002A: 4 ng/0
B8l +~ 3 v wm Bw = F L — — — — 0.001 A0 — — — — — — — — — 0.001 A0 mg/0
Wik V7 m v = F Ly — — — — 0.00 LA — — — — — — — — — 0.00 LA ng/0
20 |~ P2 + P — — — — 0.00 1A — — — — — — — — — 0.001 A ng/0
21 |4 ES it — 0064 - — 0.06A — — 0.06:4%it5 — — 0.06A — 0.06A 0064 0.06A ng/0
22 |7 = 5 i A — 0.002A:4 - — 0.002A]i — — 0.005 — — 0.002A]i — 0.002Ai 0.00244l 0.002Ai ng/0
23 |7 o " 7R v 2| — 0.008 — — 0.031 — — 0.008 — — 0.006A 4 — 0.031 0.006 45 0.012 ng/0
24 |V s = & i it — 0.004 — — 0.003A i — — 0.005 — — 0.004 — 0.005 0.003Aj 0.003 ng/0
%Yy 7 v ® s w ow A ¥ v — 0.008 - — 0.009 — — 0.009 — — 0.008 — 0.009 0.008 0.009 mg/0
26 |5t * it — 0.001 A - — 0.001 A — — 0.001 A — — 0.001 A — 0.00 LA 0.001 Al 0.00 1A ng/0
27 [ 3 ] ~ = A 4 > — 0.03 - — 0.06 — — 0.03 — — 0.02 — 0.06 0.02 0.04 mg/0
28 | b y U o " i i — 0.009 — — 0.008 — — 0.006 — — 0.003A 4 — 0.009 0.003A 0.006 ng/0
6|7 v = v s w w2 oy v — 0.009 - — 0.017 — — 0.009 — — 0.008 — 0.017 0.008 0.011 mg/0
30 [7 =] = * v 2 — 0005 - — 0.005A i — — 0.005A — — 0.005A]i — 0.005 A 0.005A4ili 0.005 A ng/0
31 | v N 7 v 7 k — 0.008 A - — 0.008A]ii — — 0.008 A — — 0.008A]ii — 0.008 A 0.008 Al 0.008 A ng/0
2| % Kk O o k A& @ — — — — 0.0 1A — — — — — — — — — 0.0 LA ng/0
B7 v I =y A kB EOAED — 0.02 — — 0.03 — — 0.03 — — 0.024 — 0.03 0.02:Ait5 0.02 ng/0
34 |8k R 9 R4 & o — 003K - — 0.03 A4 — — 0.03Ait5 — — 0.03 A4 — 0.03 A4 003K 0.03 A4 ng/0
35 |8 R 9 R4 & o — — — — 0.0 1A — — — — — — — — — 0.0 1A ng/0
%[ Vv ® ok AW - - - — 11 — — - — — - — — — 11 mg/0
3|~ v H v R VO o b A W - 0.005A4ili - — 0.005A i — — 0.005A — — 0.005A]i — 0.005 A 0.005A4ili 0.005 A ng/0
38 [ [ [ K * v 11 17 17 18 14 17 15 15 18 19 17 13 19 11 16 mg/0
W[y n s Ry N () - 33 - - 34 - - 35 - - 29 - 35 29 33 mg/0
40 |7 % 7% [ [ - 90 - - 90 - - 90 - - 90 - 90 90 90 mg/0
afE 4 & v R oom W A - — — — 0,024 — - - — — — - — — 0.02A4 ng/0
12 v = * Z 3 > 0.000002 0.000002 0.000002 0.000003 0.000003 0.000002 0.000001 0.000001 0.000002 - - - 0.000003 0.000001 0.000002 mg/0
43 [2- A F v A Y R v % A — Jb| 0.0000014# | 0.000001Ai | 0.000001AiH | 0.000001AiH 0.000001 0.00000 1A | 0.000001AHi#i | 0.000001Aiw | 0.000001 A — — — 0.0000014# | 0.000001i# | 0.000001 K ng/0
4k 4 & v R oom W A - — — — 0.005A i — - - — — — - — — 0.005 A ng/0
45 [7 = / — v % - — - — 0.0005 4 - - - - - - - — — 0.0005£: mg/0
46 [T (& AR FE (TOC) o fit) 0.8 0.4 0.6 mg/0
47 [p H [ 7.8 7.3 7.5
48 S
49 | & A
50 [ i LA LR LA i3
51 | £y 0. 1At 0. 1A 0. 1At i3

7% i # F# 0.5 0.1 0.3 mg/0




DR AR SRk HERUKIN R (BIRE P #5/K B RER (A A R E

FAREH R R4.4.14 R1.5.23 R1.6.14 R4.7.14 R1.8.22 R4.9.13 R4.10.17 R4.11.15 R4.12.13 R5.1.23 R5.2.14 R5.3.14 i fE Sy HifiL
o [ wim [ i 2y (Y 2y i [ (Y [ (Y ifi (Y
[ wn ifi i ifi i [ (Y ifi i [ (Y 2y i
E [ 15.0 22.2 19.5 24.0 32.0 28.0 18.0 15.8 13.0 6.0 4.5 10.5 32.0 4.5 17.4 C
P [ 15.9 19.3 22.1 25.8 26.8 26.3 20.7 17.2 14.1 9.8 9.8 12.1 26.8 9.8 18.3 C
1| [ il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fi5/mo
PRES 15 i AR A A A A g i A A A A A (—) (-) (-)
3 |» B 0 %2 o &t & B — — — — 0.0003 A — — - — — — — — — 0.0003 A mg/0
1 |k z o kb & B — — — — 0.00005 4]t — — -~ — — — — — — 0.000054 i mg/0
5 |t Oz o ke A& B — — — — 0.001 Al — — — — — — — — — 0.001 A mg/0
6 |8 3 2 it a L — — — — 0.001 A — — - — — — — — — 0.00 1Al mg/0
7 |e . x o A& W - - — — 0.00 1A — — —~ — — — — — — 0.001 A mg/0
8 |~ =3 it & ) — — — — — — — — — — — — — 0.0024) mg/0
9 | [23 % ES — — — — — — — — — — — — — 0.004 A mg/0
0l 7ok A4 v kR OCH ALY 7 v — 0.001 A — — 0.001 A — — 0.001 A - — 0.001 A — 0.001 Al 0.00 1A 0.00 1Al me/0
NEEEEEREE T T - 0.5 - - 0.6 - - 0.6 - - 0.6 — 0.6 0.5 0.6 mg/0
2z v % kR O % o & & B — 0,08 — -~ 0.10 - — 0.08 A — -~ 0.09 — 0.10 0.08Aj 008K mg/0
Bl v % kK ¥ x o k& & B — — — — 0.02K# — — - — — — — — — 0.02K# mg/0
14 |0 i 3 * - — — — 0.0002Aiti — — - — — — — — — 0.0002 i mg/0
15 |1 , 4- v ¥ i b — — — — 0.005A4ili — — — — — — — — — 0.005A mg/0
16 [¢=-1, -V FL L RN L A1, 2-YranzFL — — — — 0.004 A — — — — — — — — — 0.004 A mg/0
17 |[¥ s = [ * 5 v — — — — 0.00244li — — — — — — — — — 0.002A mg/0
8l ~ 3 7 m o m = F L v — — — — 0.001 Al — — — — — — — — — 0.00 1A mg/0
19 [} y 7 =w w =z F v — — — — 0.001 Al — — — — — — — — — 0.001 A mg/0
20 [~ v ¥ b — — — — 0.001 Al — — — — — — — — — 0.00 1A mg/0
21 |4 # i — 0.06 A — — 0.12 — — 0.06A - — 0064 — 0.12 0.06A 0064 mg/0
22 [~ o o i i — 0.002A]i — — 0.002A:4 — — 0.002A]i - — 0.002A: — 0.00244l 0.002Ai 0.00244il mg/0
23 |7 o 5] * v 2 — 0.009 — — 0.023 — — 0.006A ] - — 0.006 A — 0.023 0.006A]i 0.008 mg/0
24 [V U o i it i - 0.003A]i — — 0.005 — — 0.003A]i - — 0.003 A — 0.005 0.003A]i 0.003 A4l mg/0
%Y 7 w o ® s m o ow A F v — 0.012 — — 0.013 — — 0.012 — — 0.005Aj — 0.013 0.005A: 4 0.009 mg/ 0
26 |5t % i — 0.001 A — — 0.001 — — 0.001 A - — 0.001 A — 0.001 0.001 A 0.00 1Al mg/0
27 [ 3 Y ~ o A 4 % — 0.04 — — 0.06 — — 0.03 - — 0.01 — 0.06 0.01 0.04 mg/0
28 [} Y s = o i3 i — 0.003A]i — — 0.008 — — 0.003A]i - — 0.003 A — 0.008 0.003A]i 0.003 A4l mg/0
297 =w = v v wm ow A v - 0.012 — — 0.020 — — 0.009 - — 0.004 — 0.020 0.004 0.011 mg/0
30 |7 = B3 * v 2 — 0.005A]i — — 0005 — — 0.005A i - — 0005 — 0.005A4ili 0.005 A 0.005A4ili mg/0
31 | v N 7 v 7 t K — 0.008Aii — — 0.008 A — — 0.008Aii - — 0.008 A — 0.008 Al 0.008 A 0.008 Al mg/0
2l K ¥ 2 o b & By — — — — 0.0 Al — — — — — — — — — 0.0 LA mg/0
B|I7 v I = AR VT E DAY - 0.02 — — 0.04 — — 0.024 - — 0.02K# — 0.04 0,024 0.02K# mg/0
34 |8k % 9 % [2) 4 a L — 0.03 A4 — — 0.03Ai5 — — 0.03 A4 - — 003K — 003K 0.03 A4 003K mg/0
B8 & v x o kAW - - — — 0.0 LA — — - - — — — — — 0.0 LA mg/0
6|7 F VU Y oA RV ZE 0 LA P - - — — 11 — — - - — - — — — 11 mg/0
3|~ v A v kOB o & By — 0.005A]i — — 0005 — — 0.005A i - — 0005 — 0.005A4ili 0.005 A 0.005A4ili mg/0
38 [ it [ A * V] 22 20 19 11 16 14 12 17 20 13 13 13 22 11 16 mg/0
VYU N S xRy A% (W E) - 35 - - 30 - - 10 - - 23 - 40 23 32 mg/0
% 7% ] [ - 90 - - 90 - - 90 - - 80 - 90 80 88 mg/0
A4 4 v R @m iEF A - — — — 0.02K# — - - — — — -~ — — 0.02K# mg/0
= + 2 2 >|0.000002 0.000002 0.000004 0.000003 0.000002 0.000002 0.000001 0.000002 0.000001 A -~ — — 0.000004 0.000001 0.000002 mg/0
4302 A F v A4 Y K v x4 — | 0.000001FKi | 0.000001 A 0.000001 0.0000014%# | 0.000001Aii | 0.000001Ad | 0.0000014i# | 0.000001Ai5 | 0.00000 1At — — -~ 0.000001 0.000001 A | 0.00000 1 Aiti me/0
I - - - - 0.0054i -~ - - - -~ — — — — 0.0054i mg/0
45 |7 e / — v # — — — — 0.0005Ai — — — — — — — — — 0.0005Aiti mg/0
WY (AR E(TOC) 0 k) 0.8 0.6 1.0 0.4 0.7 mg/0
47 [p H i 7.3 7.2 7.6 7.0 7.3
48 4 Hiial Higial
49 |5 Al HiL
50 [ B LA LR LA LA LA LR LA LA i3
51 | £ 0. 1At 0. 1At 0. 1A 0. 1A 0. 1At 0. 1At 0. 1K 0. 14 0. 1A 0. 1A i3
7% ] i # 0.3 0.4 0.4 0.5 0.4 0.4 0.4 0.5 0.3 0.4 mg/0




DFIEE RIS

TR ALK % (IR HP) A 7K BT RRER (IR AT i R

FAREH R R4.4.14 R1.5.23 R1.6.14 R4.7.14 R1.8.22 R4.9.13 R4.10.17 R4.11.15 R4.12.13 R5.1.23 R5.2.14 R5.3.14 i fE Sy HifiL
o [ im [ i 2y (Y 2y i [ (Y [ (Y ifi (Y
EETE ifi i ifi i [ (Y ifi i [ (Y 2y i
E [ 15.0 22.0 18.3 23.8 30.5 28.0 17.6 13.2 10.0 5.0 4.5 11.2 30.5 4.5 16.6 C
P [ 15.6 19.1 22.0 25.3 26.2 26.0 20.0 17.0 13.1 9.5 8.3 11.8 26.2 8.3 17.8 C
1| % il 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fi5/mo
PRES 15 i AR A A A i A A A i A A A (-) (-) (-)
s|nm K I v IR — — — — 0.0003 A — — - — — — — — — 0.0003 A mg/ 0
4k Bk o A& Y — — — — 0.00005 4]l — — -~ — — — — — — 0.000054 i mg/0
5l v v kB U % o f{ & B — — — — — — — — — — — — — 0.001 A mg/0
6 |8 o % 2 it & L — — — — 0.001 A — — - — — — — — — 0.001 Al mg/0
7 |e E O ®x o £ & B — — — — 0.001 A — — - — — — — — — 0.001 Al mg/0
8 [~ s & IS 1t & 1] — — — — 0.0024 — — — — — — — — — 0.0024i me/ 0
9 | i i3 T e ES — — — — — — — — — — — — — 0.004 45 me/ 0
Wl 7ok A4+ v kR KLY 7 v — 0.001 A — — 0.001 A - — 0.001 A - — 0.001 A — 0.001 Al 0.00 1A 0.00 1Al me/0
NEEEEE YRR T - 0.5 - - 0.6 - - 0.5 - - 0.6 — 0.6 0.5 0.6 mg/0
27 v % Kk O % o { & B — 0.08 A — -~ 0.09 - — 0.08 A — -~ 0.09 — 0.09 0.08Aj 0.08Ki# mg/ 0
Blx v £ kK ® % o { & B — — — — 0.02K# — — - — — — — — — 0.02K# mg/0
14 | [ it B3 # - - — — 000024 -~ — - - — - — — — 0.00024i mg/0
15 |1 , 4- v + ¥ ks b — — — — 0.005A4ili — — — — — — — — — 0.005Aj mg/0
16 |2 %1, 2-YrmnzFL L B ORI A1, 2-Y/nnmF L — — — — 0.004 45 — — - — — — — — — 0.004 A mg/0
17 |2 7 o o A 5 b — — — — 0.00244l — — — — — — — — — 0.002A mg/0
8l + 3 v w©m = =T F L — - — — 0.00 1A - — - - — - — — — 0.001 K mg/0
9|k v U o X F [ — — — — 0.001A44 — — — — — — — — — 0.00 1A mg/0
20 [~ v ¥ b — — — — 0.00 1Al — — — — — — — — — 0.00 1A mg/0
21 |4 # i — 0.06 A — — 0.12 - — 0.06A - — 0064 — 0.12 0.06A 0064 mg/ 0
22 [~ = o i i — 0.002A]i — — 0.002A:4 - — 0.002A]i - — 0.002A: — 0.00244l 0.002Ai 0.00244l mg/ 0
23 |7 = 5 & v 2 - 0.009 — — 0.022 - — 0.0064: 7 - — 0.006 A — 0.022 0.006A]i 0.008 mg/0
24 | s o o i i — 0.003A]i — — 0.004 - — 0.003A]i — — 0.003 — 0.004 0.003A]i 0.003 A4l mg/ 0
%Y 7 m = s wmom A H Y — 0.014 — — 0.011 — — 0.010 — — 0.005A — 0.014 0.005A: 4 0.009 mg/ 0
26 |5t % i — 0.001 A — — 0.001 A - — 0.001 A - — 0.001 A — 0.001 Al 0.00 1A 0.00 1Al mg/ 0
27 [ I Y »\ o A 4 % — 0.04 — — 0.05 - — 0.02 - — 0.01 — 0.05 0.01 0.03 mg/0
28 [~ y U o o i i — 0.003A]i — — 0.009 - — 0.003A]i - — 0.003 A — 0.009 0.003A]i 0.003 A4l mg/ 0
6|7 = = Y s wm o owm A & v — 0.014 — — 0.018 - — 0.007 - — 0.004 — 0.018 0.004 0.011 mg/0
30 [7 o = * v 2 — 0.005A ] — — 0005 - — 0.005A]i - — 0005 — 0.005A4ili 0.005 A 0.005A4ili mg/ 0
31 [ v Iy 7 v 7 K - 0.008A]i — — 0.008 A - — 0.008Aii - — 0008 — 0.008 Al 0.008 A 0.008 Al mg/ 0
2| Hm kR ¥ o {k A& B — — — — 0.0 1K — — - — — — — — — 0.0 1K mg/0
B|I7 v I =y A kB E 0O E Y — 0.02 — — 0.04 - — 0.024 - — 0.02K# — 0.04 0,024 0.02K# mg/ 0
34 |8k % 9 % 2 it & i) — 0.03 A4 — — 0.03Ait5 - — 0.03 A4 - — 003K — 003K 0.03 A4 003K mg/ 0
35 |4 % 9 % 2 it & L — — — — 0.0 1K — — - — — — — — — 0.0 1K mg/Q
[ KUY oA R ZE D AW - - — — 11 - — - - — - — — — 11 mg/0
3|~ v A vy kR VB 2 o L A Y — 0.005A ] — — 0005 - — 0.005A]i - — 0005 — 0.005A4ili 0.005 A 0.005A4ili mg/ 0
38 [ it [ A * V] 21 21 19 11 16 14 12 17 20 13 12 12 21 11 16 mg/0
YR T — 34 - - 30 - - 141 - - 22 - 41 22 32 mg/0
% % ] [ - 90 - - 90 - - 90 - - 80 - 90 80 88 mg/0
M - - - - 00254 -~ - - - -~ - — — — 0024 mg/0
= * A 3 ~|0.000002 0.000002 0.000004 0.000003 0.000002 0.000002 0.000001 0.000002 0.000001 - — - 0.000004 0.00000 1 A 0.000002 mg/0
3= 2 F o 4 v R & A — ] 0.000001Ki# | 0.0000014 | 0.0000014H 0.000001 0.000001 4§ | 0.000001Ai | 0.0000014# | 0.000001Ai5 | 0.000001 A — — -~ 0.000001 0.000001 A | 0.00000 1 Aiti me/0
M - - - - 0.0054i -~ - - - -~ - — — — 0.0054i mg/0
45 |7 = / — v i — - - - 0.00054i - - - - - - - — — 0.00054 mg/ 0
46 |17 B (& fi B i # (TOoOC) o fit) 1.0 0.4 0.7 mg/0
47 [p H i 7.7 7.1 7.4
48 Wk
49 | & &
50 [ B LA LA LA LR LA LR i3
51 | £ 0. 1At 0. 1At 0. 1At 0. 1At 0. 1At 0. 1A 0. 14 0. 1K 0. LA i3
7% [ [ # 0.3 0.4 0.4 0.4 0.4 0.4 0.5 0.3 0.4 mg/0




DA FRHAOKYS K BRIE LKA (B RIP) F5 7K BT RURR () i R

FAREH R R4.4.11 R4.5.17 R4.6.9 R1.7.11 R4.8.15 R1.9.8 R4.10.11 R4.11.10 R4.12.8 R5.1.17 R5.2.9 R5.3.9 IR i fel ) Hifr
o [ i i 2y (Y 2y i 2y i [ (Y ifi [
EEE i 29 i [ i 2y (Y [ i S [
E i 19.5 17.0 18.0 29.0 30.0 23.5 16.5 16.0 11.0 5.5 5.5 16.0 30.0 5.5 17.3 C
P i 14.2 17.8 20.5 26.8 27.8 26.2 20.1 15.5 12.3 9.3 7.2 8.2 27.8 2 17.2 C
1| [ il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fiEl/me
PRES 15 i R A A i A A g i A A A A (-) (—) (-)
s|nm K v w0k AW — - — — 0.0003 A — — - — — — — — — 0.0003 A ng/0
[NEE = o f & W — — — — 0.00005Ai — — - — — — — — — 0.00005Ai ng/0
50« v v R O®” 2 o { & B — — — — 0.00 1A — — — — — — — — — 0.00 LA ng/0
6 |8 3 o 3 2 it a [ — — — — 0.001 A — — - — — — — — — 0.00 1A ng/0
Tl # R VB X o A B — — — — 0.001 A — — - — — — — — — 0.00 1A ng/0
8 |~ fi s & A [ a [ — — — — 0.002Ai — — - — — — — — — 0.002Ai mg/0
9 | ity i3 & = % - — — — 0.004A]i — — - — — — — — — 0.004A]i ng/0
Wl 7 vk WA F v kO HEALY 7 v - 0.001 A - — 0.001 A — — 0.001 A — — 0.001 A — 0.00 1A 0.001 Al 0.00 1A ng/0
N EE R YR T - 0.5 - - 0.5 - - 0.5 - - 0.6 - 0.6 0.5 0.5 mg/0
12z v £ kB v z o k& A& B — 0.08AKi# - — 0.08 A - -~ 0.084it] - - 0,08 — 0.08 A 0.08Ki# 0.08 A ng/0
Blx v % kK ¥z o {k A& B — — — — 0,024 — — - — — — — — — 0,024 ng/0
14 | H [ 1% Ed - - - — 0.0002Af — — - - — -~ — — — 0.0002£: 1 ng/0
15 |1 , 4- > * * & v - — - — 0.005A i — — - — — — — — — 0.005 A mg/0
16 (221, 2-V oz F Ly RUORIY A-1, 2-V/unxF Ly — — — — 0.004 A — — — — — — — — — 0.004A: 4 ng/0
17 |¥ 7 " " A 4 v — — — — 0.002 A4 — — — — — — — — — 0.002 A4 mg/0
8l ~ ¥ 7 ®w w = F L v — — — — 0.001 A4 — — — — — — — — — 0.001 A4 mg/0
19 |k Y s 51 5 ES ¥ v > — — — — 0.001 A0 — — — — — — — — — 0.001 4§ mg/0
20 |~ v + P — — — — 0.00 LA — — — — — — — — — 0.001 A ng/0
21 |4 ES it - 0064 — — 0.20 — — 006K — — 0.06A — 0.20 0064 0.06A ng/0
22 |7 = =] i3 A — 0.002A:4 - — 0.002A]i — — 0.002A:4 — — 0.002A]i — 0.002Ai 0.00244l 0.002Ai ng/0
23 |7 [ = & v A — 0.011 — — 0.018 — — 0.006 A — — 0.006 — 0.018 0.006 4} 0.009 ng/0
24 |V U " i i — 0.004 — — 0.006 — — 0.003Aj — — 0.003 — 0.006 0.003 A 0.003 ng/0
%l 7 = = s m o owm A H v — 0.009 - — 0.015 — — 0.011 — — 0.006 — 0.015 0.006 0.010 mg/0
26 |5t * it — 0.001 A - — 0.001 A — — 0.001 A — — 0.001 A — 0.00 1A 0.001 Al 0.00 1A ng/0
27 [ 3 ] »\ o A 4 v - 0.03 - — 0.05 — — 0.03 — — 0.02 — 0.05 0.02 0.03 mg/0
28 [~ ] s o =] [ it — 0.006 — — 0.007 — — 0.003 A — — 0.003A]i — 0.007 0.003 A 0.003 mg/0
w7 = = v s m om oz x v — 0.012 - — 0.018 — — 0.008 — — 0.007 — 0.018 0.007 0.011 mg/0
30 |7 = B3 & v A — 0.005 A - — 0.005A i — — 0005 — — 0.005A]i — 0.005 A 0.005A4ili 0.005 A ng/0
31 | v N 7 v 7 t I - 0.008 A - — 0.008Aii — — 0.008 A — — 0.008Ai — 0.008 A 0.008 Al 0.008 A ng/0
2| Kk O o fk & W — — — — 0.01 A — — - — — — — — — 0.01 A ng/0
B|7 v I = v xRk VB Z 0 LAWY - 0.02 - — 0.06 — — 0.02:Ait5 — — 0.02A4 — 0.06 0.02K# 0.02 mg/0
34 |8k 3 9 * 2 it a [ — 003K - — 0.03 A4 — — 0.03Ai5 — — 0.03 A4 — 0.03 A4 003K 0.03 A4 ng/0
R ®* o 0o {t & ® - - - — 0.0 LA — — - — — -~ — — — 0.0 1A ng/0
6 F U v A R OB E 0 b A& B — — — — 14 — — — — — — — — — 14 ng/0
3|~ v H v kR OB o k& W - 0.005A4ili — — 0.014 — — 0005 — — 0.005A]i — 0.014 0005 0.005 A ng/0
38 [ [ [ K * v 12 15 20 19 19 19 16 17 17 20 18 13 20 12 17 mg/0
BB R EN Y T T - 28 - - 38 - - 37 - - 30 - 38 28 33 mg/0
% 7% ] [ - 80 - - 90 - - 80 - - 90 - 90 80 85 mg/0
A4 A4 v R m & A — — — — 0.0244l — — — — — — — — — 0.024 ng/0
= + B 2 > 0.000001 0.000002 0.000003 0.000004 0.000002 0.000001 A 0.000002 0.000002 0.000002 - - - 0.000004 0.000001 A 0.000002 mg/0
312 A F v A Y R v x4 — | 0.000001Ki# | 0.000001Ki# | 0.000001Ki 0.000001 0.0000014J# | 0.00000147# | 0.000001j# | 0.000001%Ki# | 0.000001 K — — — 0.000001 0.000001 A | 0.000001 A ng/0
4 4 & v R oom W\ A - — — — 0.005A]i — - - — — — — — — 0.005 A ng/0
45 |7 E3 % — v il — — — — 0.0005 A — — — — — — — — — 0.0005A i ng/0
WY (A BRFE(TOC) o k) 0.8 0.6 0.5 0.8 0.3 0.6 mg/0
47 [p H it 7.8 7.8 7.5 7.8 7.2 7.5
48 Uk Rl Sl Sl
49 |5 S Rl HiL ;.
50 [ 3 LA LR LA LA LR LA LA LR LA i3
51 | 3 0. 1At 0. 1At 0.2 0. 1A 0. 1At 0. 1K 0. 1A 0. 1At 0.2 0. 1A 0. 1At i3
7% ] [ * 0.4 0.3 0.3 0.3 0.4 0.4 0.4 0.4 0.5 0.3 0.4 mg/0




DRIAENE Gt R ik G0k ROk R GRIMPY) #E /K /KB RAER () fl R

FAREH R R1.4.14 R4.5.23 R1.6.14 R4.7.14 R4.8.22 R1.9.13 R4.10.17 R4.11.15 R4.12.13 R5.1.23 R5.2.14 R5.3.14 IR i fiel ) Hifr
o [ wim i [ (Y 2y (Y [ i 2y i 2y i 2
IEET i lih i [ i 29 i lih i 29 29 lih
E i 15.0 20.8 20.0 25.0 30.0 28.5 17.5 14.0 11.0 5.0 5.0 10.0 30.0 5.0 16.8 C
P i 14.5 17.8 20.2 25.7 25.9 24.0 18.9 16.1 12.3 8.9 7.9 10.8 25.9 7.9 16.9 C
1| % il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fiEl/me
PRES 15 i R A g i A A g i A i A A (-) (—) (-)
s F 3 v oa R U Z 0 A& WY — — — — 0.0003 A — — - — — — — — — 0.0003 A ng/0
1k B/ R U oz o & & P — — — — 0.00005Ai — — - — — — — — — 0.00005Ai ng/0
5|2 v v R OV %2 o kb & B — — — — 0.00 1A — — — — — — — — — 0.001 A ng/0
6 |8 R ¢ & o & o — — — — 0.001 A — — - — — — — — — 0.00 1A ng/0
Tl % R U x2 o & B — — — — 0.001 A — — - — — — — — — 0.00 1A mg/0
8 & fi U i A e & 0w — — — — 0.002A]i — — - — — — — — — 0.002Ai ng/0
9 | I} i3 i e * - — — — 0.004A]i — — - — — — — — — 0.004A]i ng/0
0| 7 v b A4 v R OHEH LY 7 v — 0.00 1Al — — 0.001 A — — 0.001 A - — 0.001 A — 0.00 LA 0.00 1Al 0.00 1A ng/0
N EEFEYE YT EE - 0.5 - - 1.2 - - 0.6 - - 0.9 — 1.2 0.5 0.8 mg/0
127 v £# kK ® % o { A& B — 0.08AKi# — — 0.09 - — 008K - - 0.08 A — 0.09 0.08Ki# 0,08 ng/0
Blx v % kB ¥ o £ A& B — — — — 0,024 — — - — — — — — — 0,024 ng/0
14 |0 i (4 I3 % - — — — 0.0002A:]i — — - — — — — — — 0.0002Ai ng/0
15 |1 4- v + ¥ i v — — — — 0.005 A — — — — — — — — — 0.005A: 4w ng/0
16 A1, 2-V/RBRIF LY — — — — 0.004 A — — — — — — — — — 0.004A: 4 ng/0
17 |¥ 4 =4 =4 A P v — — — — 0.002 A4 — — — — — — — — — 0.002 A4 mg/0
B8l +~ 3 v wm w = F L — — — — 0.001 A4 — — — — — — — — — 0.001 A0 mg/0
Wik Vs m om = F Ly — — — — 0.00 1A — — — — — — — — — 0.00 LA ng/0
20 |~ P2 + P — — — — 0.00 LA — — — — — — — — — 0.001 A ng/0
21 |4 ES it — 0064 — — 0.06A — — 0.06:4%it5 - — 0.06A — 0.06A 0064 0.06A ng/0
22 |7 = 5 i A — 0.002A:4 — — 0.002A]i — — 0.002A:4 - — 0.002A]i — 0.002Ai 0.00244li 0.002Ai ng/0
23 |7 o & * v 2 - 0.006 A — — 0.008 — — 0.006 A - — 0.006A]i — 0.008 0.006 A 0.006 A ng/0
24 [v s o =] i3 A - 0.003 — — 0.003A]i — — 0.003 - — 0.003A]i — 0.003 0.003 A 0.003 A ng/0
»w|ly 7 m o= v m o owm A H v - 0.005 A — — 0.007 — — 0005 - — 0.005A ] — 0.007 0.005A 0.005 A ng/0
26 |5t * it — 0.001 A — — 0.001 A — — 0.001 A - — 0.001 A — 0.00 1A 0.00 1Al 0.00 1A ng/0
27 [# + y ~ = £ Z V| — 0.01 — — 0.03 — — 0.02 — — 0.0 LA — 0.03 0.01 0.02 ng/0
28 [~ ] s =] & i it — 0.003 A — — 0.004 — — 0.003 A - — 0.003A]i — 0.004 0.003 A 0.003 A ng/0
w|[7 v = v s w w2 ¥ v — 0.004 — — 0.009 — — 0.006 - — 0.004 — 0.009 0.004 0.006 mg/0
30 [7 =] = * v 2 — 0.005 A — — 0.005A i — — 0005 - — 0.005A]i — 0.005 A 0.005A4ili 0.005 A ng/0
31 | v N 7 v 7 k — 0.008 A — — 0.008Aii — — 0.008 A - — 0.008A]i — 0.008 A 0.008 Al 0.008 A ng/0
2l % Kk O o k A& @ — — — — 0.0 1A — — — — — — — — — 0.0 LA ng/0
B|7 v I =y ARV E O EWY — - — — 0.0244l — — — — — — — — — 0.02 A4 ng/0
34 |8k R ¢ & o & o — 003K — — 0.03 A4 — — 0.03Ai5 - — 0.03 A4 — 0.03 A4 003K 0.03 A4 ng/0
Bl xR w2 o A& 0By - - — — 0.0 LA — — - - — -~ — — — 0.0 LA ng/0
36|77 P U v oA R U E O A Y — — — — 6.8 — — — — — — — — — 6.8 mg/0
3|~ v H v R VO o b A W - 0.005A4ili — — 0.005A i — — 0005 - — 0.005A]i — 0.005 A 0.005A4ili 0.005 A ng/0
: 8.6 8.4 8.0 11 6.7 6.9 7.5 8.4 9.5 9.1 9.9 9.7 11 6.7 8.6 mg/0
— — — — 35 — — — — — — — — — 35 mg/0
— — — — 60 — — — — — — — — — 60 mg/0
— — — — 0.0244l — — — — — — — — — 0.024 ng/0
42 | e + = 2 >| 0.0000017# | 0.0000014# | 0.000001 A 0.000003 0.000001 4 0.000001£7# | 0.000001Ki# | 0.000001 A - — — — 0.000003 0.000001A# | 0.000001 A ng/0
4312- A F M A Y K v xS — s 0.000001A | 0.000001AiH | 0.000001 A 0.000001 0.000001Ai# | 0.000001A# | 0.000001Ai | 0.000001 A - — — — 0.000001 0.000001A# | 0.000001 A ng/0
4“4k 4 & v R oom W A - — — — 0.005A ] — - - — — — - — — 0.005 A ng/0
45 [7 = / — v % - — - - 0.0005 4 - - - - - - - — — 0.0005£: mg/0
6T (R KR HE(TOC) O Hk) 0.6 0.7 0.6 0.4 1.0 0.3 0.6 mg/0
47 [p H it 7.1 7.2 7.3 7.2 7.4 6.9 7.2
48 3 gl Hiial Hiial ;7
49 |5 S Ll AL ;.
50 [ 3 LR LA LR LA LA LR LA LR LA i3
51 | 3 0. 1At 0. 1At 0. 1K 0. 1A 0. 1A 0. 1A 0. 1At 0. 1A 0. 14 0. 1A 0. 1A 0. 1At i
7% # [ # 0.4 0.4 0.2 0.5 0.4 0.4 0.3 0.4 0.4 0.5 0.2 0.4 mg/0




DRIAENE G Rk GOk BOK R (BRI #a K KB RER () fl R

FAREH R R1.4.14 R4.5.23 R1.6.14 R4.7.14 R4.8.22 R1.9.13 R4.10.17 R4.11.15 R4.12.13 R5.1.23 R5.2.14 R5.3.14 IR i fiel ) Hifr
o [ wim i [ (Y 2y (Y [ i 2y i 2y i 2
IEET i lih i [ i 29 i lih i 29 29 lih
E i 15.0 22.0 19.0 24.2 30.5 28.0 18.0 14.0 11.0 5.0 4.0 11.0 30.5 4.0 16.8 C
P i 15.9 19.3 22.1 26.8 27.9 26.9 21.5 17.5 13.0 9.2 8.2 11.8 27.9 8.2 18.3 C
1| % il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fiEl/me
PRES 15 i R A g i A A g i A i A A (-) (—) (-)
s F 3 v oa R U Z 0 A& WY — — — — 0.0003 A — — - — — — — — — 0.0003 A ng/0
1k B/ R U oz o & & P — — — — 0.00005Ai — — - — — — — — — 0.00005Ai ng/0
5|2 v v R OV %2 o kb & B — — — — 0.00 1A — — — — — — — — — 0.001 A ng/0
6 |8 R ¢ & o & o — — — — 0.001 A — — - — — — — — — 0.00 1A ng/0
Tl % R U x2 o & B — — — — 0.001 A — — - — — — — — — 0.00 1A mg/0
8 & fi U i A e & 0w — — — — 0.002A]i — — - — — — — — — 0.002Ai ng/0
9 | I} i3 i e * - — — — 0.004A]i — — - — — — — — — 0.004A]i ng/0
0| 7 v b A4 v R OHEH LY 7 v — 0.00 1Al — — 0.001 A — — 0.001 A - — 0.001 A — 0.00 LA 0.00 1Al 0.00 1A ng/0
N EEFEYE YT EE - 0.4 - - 1.1 - - 0.8 - - 0.9 — 1.1 0.4 0.8 mg/0
127 v £# kK ® % o { A& B — 0.08AKi# — — 0.09 - — 008K — - 0.10 — 0.10 0.084it] 0,08 ng/0
Blx v % kB ¥ o £ A& B — — — — 0,024 — — - — — — — — — 0,024 ng/0
14 |0 i (4 I3 % - — — — 0.0002A:]i — — - — — — — — — 0.0002Ai ng/0
15 |1 1- v + ¥ i v — — — — 0.005 A — — — — — — — — — 0.005A: 4w ng/0
16 AL AT T 7 =1, v 7= 7 7 — - UUU‘iK'}% o o o - o - o o . UUU‘iK'}% mg,/Q
17 |2 7 o o A 4 v — — — — 0.002Ai — — — — — — — — — 0.002A: 4 ng/0
B8l +~ 3 v wm w = F L — — — — 0.001 A4 — — — — — — — — — 0.001 A0 mg/0
wlr v o7 mr B =z F v — — — — 0.00 1A — — — — — — — — — 0.00 LA ng/0
20 |~ P2 + P — — — — 0.00 LA — — — — — — — — — 0.001 A ng/0
21 |4 ES it — 0064 — — 0.06A — — 0.06:4%it5 - — 0.06A — 0.06A 0064 0.06A ng/0
22 |7 = 5 i A — 0.002A:4 — — 0.002A]i — — 0.002A:4 - — 0.002A]i — 0.002Ai 0.00244li 0.002Ai ng/0
23 |7 o = & 2 2 — 0.006 A — — 0.009 — — 0.007 — — 0.006A 4 — 0.009 0.006 A 0.006 4 ng/0
24 [v s o =] [ it - 0.004 — — 0.004 — — 0.003 — — 0.003A]i — 0.004 0.003 A 0.003 A ng/0
»w|ly 7 m o= v m o owm A H v — 0.005 A — — 0.007 — — 0.006 - — 0.005A ] — 0.007 0.005A 0.005 A ng/0
26 |5t * it — 0.001 A — — 0.001 A — — 0.001 A - — 0.001 A — 0.00 1A 0.00 1Al 0.00 1A ng/0
27 [ 3 ] ~ = A 4 > — 0.01 — — 0.03 — — 0.02 - — 0.01 — 0.03 0.01 0.02 mg/0
28 | b y U o " i i — 0.003 — — 0.006 — — 0.004 — — 0.003A 4 — 0.006 0.003A 0.003 ng/0
w|[7 v = v s w w2 ¥ v — 0.005 — — 0.009 — — 0.008 - — 0.004 — 0.009 0.004 0.007 mg/0
30 [7 =] = * v 2 — 0.005 A — — 0.005A i — — 0005 - — 0.005A]i — 0.005 A 0.005A4ili 0.005 A ng/0
31 | v N 7 v 7 k — 0.008 A — — 0.008Aii — — 0.008 A - — 0.008A]i — 0.008 A 0.008 Al 0.008 A ng/0
2l % Kk O o k A& @ — — — — 0.01 A — — - — — — — — — 0.01 A ng/0
B|7 I =y AR E O AEW — — — — 0.0244l — — — — — — — — — 0.02 A4 ng/0
34 |8k R ¢ & o & o — 003K — — 0.03 A4 — — 0.03Ai5 - — 0.03 A4 — 0.03 A4 003K 0.03 A4 ng/0
35 |8 R vz R4 & o — — — — 0.0 1A — — — — — — — — — 0.0 1A ng/0
[ PV Y oA R B E DAY - - — — 6.9 — — - - — - — — — 6.9 mg/0
3|~ v H v R VO o b A W - 0.005A4ili — — 0.005A i — — 0005 - — 0.005A]i — 0.005 A 0.005A4ili 0.005 A ng/0
: 8.9 8.4 8.2 7.5 7.0 6.9 7.6 8.4 9.4 9.2 10 9.5 10 6.9 8.4 mg/0
— — — — 35 — — — — — — — — — 35 mg/0
— — — — 60 — — — — — — — — — 60 mg/0
— — — — 0.0244l — — — — — — — — — 0.024 ng/0
42 | e + = 2 >| 0.0000017# | 0.0000014# | 0.000001 A 0.000001 4 0.000001£7# | 0.000001Ki# | 0.000001 A — — — — 0.000001A# | 0.000001i# | 0.000001 K ng/0
4312- A F M A Y K v xS — s 0.000001A | 0.000001AiH | 0.000001 A 0.000001Ai# | 0.000001A# | 0.000001Ai | 0.000001 A — — — — 0.0000014# | 0.000001i# | 0.000001 K ng/0
4“4k 4 & v R oom W A - — — 0.005A ] — - - — — — - — — 0.005 A ng/0
45 [7 = / — v % - — - 0.0005 4 - - - - - - - — — 0.0005£: mg/0
6w (AR E(TOC) O Hk) 0.6 0.7 0.6 0.5 0.4 0.7 0.4 0.5 mg/0
47 [p H it 7.3 7.2 7.3 7.3 7.1 7.3 7.1 7.2
48 3 gl Rl Hiial Hiial ;7
49 |5 S Ll 7 AL ;.
50 [ 3 LR LA LR LA LA LR LA LR LA i3
51 | 3 0. 1At 0. 1At 0. 1K 0. 1A 0. 1A 0. 1A 0. 1At 0. 1A 0. 14 0. 1A 0. 1A 0. 1At i
7% # [ # 0.4 0.4 0.3 0.4 0.3 0.3 0.4 0.4 0.4 0.4 0.3 0.4 mg/0




DRIAFEE MEARYR ARk BRI () il RS

TAREA R R4.4.19 R4.5.26 R4.6.20 R4.7.21 R4.8.29 R4.9.20 R4.10.20 R4.11.21 R4.12.19 R5.1.26 R5.3.23 IR i fiel ) Hifr
o [IEE i 2Y D [ i 2y i 2y i % [
[BEE i [ (Y [ i ifi i [ i [ ifi
E i 16.0 26.5 26.0 26.0 27.2 21.0 15.0 15.8 2.0 0.0 18.0 27.2 0.0 16.6 C
P i 16.4 23.2 24.2 26.4 27.2 28.0 19.8 13.8 8.7 5.8 13.1 28.0 5.8 17.8 C
1| % il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fiEl/me
PRES 15 i R A g i g A g i g A A (-) (-) (-)
s|ln F 3 v oA R U E Dk &Y — - — — 0.0003 A — — - — — — — — 0.0003 A ng/0
1k 8 R O 2 o k£ & B — — — — 0.00005Ai — — - — — — — — — 0.00005Ai ng/0
50« v v B ® o o {k & B — — — — 0.00 1A — — — — — — — — — 0.00 LA ng/0
6 |8 3 o 3 2 (4 & [ — — — — 0.001 A — — - — — — — — — 0.00 LA ng/0
Tl # R OV X 0o A& B — — — — 0.001 A — — - — — — — — — 0.00 1A ng/0
8 & fi U i A {4 a [ — — — — 0.002A]i — — - — — — — — — 0.002Ai mg/0
9 | ity i3 i e % - - — — 0.004A]i — — - — — — — — — 0.004A]i ng/0
Wl 7 v b WA F v kO by 7 - 0.001 A — — 0.001 A - — 0.001 A - — 0.001 A — 0.00 LA 0.00 1Al 0.00 1A ng/0
NEEEEE R TR T - 0.8 - - 0.6 - - 0.6 - - 0.8 — 0.8 0.6 0.7 mg/0
12l v £ kR ¥ x o {t & P — 008K — - 0.09 - — 008K - - 0.08 A — 0.09 0.08Ki# 0.08 A ng/0
Bl v % kK ¥ x o & & B — — — — 0,024 — — - — — — — — — 0.02A:4 mg/0
14 |0 i (4 1% % - — — — 0.0002A:]i — — - — — — — — — 0.0002A mg/0
15 |1 , 1- B %+ * k2 P — — — — 0.005 A — — — — — — — — — 0.005A i mg/0
16 [v=-1, 2-vrmnxFL L R UMY %1, 2-Y/unxF L — — — — 0.004 41 — — - - — — — — — 0.004 41§ mg/0
17 [¥ 7 o =] £ 5 v — — — — 0.002 A - — - - — — — — — 0.002A]i ng/0
8 + 3 7 wm o m = F L Y — — — — 0.00 1A — — — — — — — — — 0.001 A ng/0
wlk v s v v = F LY - — — — 0.00 1A - — - - — - — — — 0.001 A7 mg/0
20 |~ P2 + P — — — — 0.00 1A — — — — — — — — — 0.001 A mg/0
21 |4 # it - 0064 — — 0.06A - — 0.06:4%it5 - — 0.06A — 0.06A 0064 0.06A ng/0
22 |7 = 5 i3 A — 0.002A: — — 0.002A]i - — 0.002A - — 0.002A]i — 0.002Ai 0.00244li 0.002Ai ng/0
23 |7 = = * v A — 0.006 A — — 0.006Ai - — 0.006 A - — 0.006A ] — 0.006 A 0.006 A4t 0.006Ai ng/0
24 [¥ U i i it A - 0.003 K — — 0.003A]i - — 0.003 A - — 0.003A]i — 0.003 A 0.003 A4l 0.003 A ng/0
%l 7 = = s o moowm A &Y — 0.005 A — — 0.005A]i - — 0.005A - — 0.005A ] — 0.005 A 0.005A4ili 0.005 A ng/0
26 |5t % it — 0.001 A — — 0.001 A - — 0.001 A - — 0.001 A — 0.00 1A 0.00 1Al 0.00 1A ng/0
27 | h ] ~ o 2 4 o - 0.0 1K — — 0.01 A — — 0.0 LA - — 0.01 A — 0.01 A 0.0 1K 0.01 A ng/0
28 [~ Y s o = i3 A — 0.003 A — — 0.003A]i - — 0.003 A - — 0.003A]i — 0.003 A 0.003 A4l 0.003 A ng/0
w7 = = v s o wmowm o2& — 0.003 A — — 0.003A]i - — 0.003 A - — 0.003A]i — 0.003 A 0.003 A4l 0.003 A ng/0
30 [7 o = * v 2 — 0.005A — — 0.005A]i - — 0005 - — 0.005A ] — 0.005 A 0.005A4ili 0.005 A ng/0
31 | v N 7 v 7 K| — 0.008 A — — 0.008A]ii - — 0.008 A - — 0.008Aii — 0.008 A 0.008 Al 0.008 A ng/0
X 1) — — — — 0.01 £l — — — — — — — — — 0.01 Al ng/0
[ — — — — 0,024 — — - — — — — — — 0,024 mg/0
1) — — — — 0.03 A4l — — — — — — — — — 0.03 A4l ng/0
1) — — — — 0.01 £l — — — — — — — — — 0.01 Al ng/0
17 — — — — 9.0 — — — — — — — — — 9.0 mg/0
[ — — — — 0.005 A — — - — — — — — — 0.005 A ng/0
v 12 13 13 13 13 13 11 12 12 11 12 12 13 11 12 mg/0
) - 57 - - 62 - - 57 - - 68 - 68 57 61 mg/0
[ - 90 - - 110 - - 80 - - 110 - 110 80 100 mg/0
#l — — — — 0.0244l — — — — — — — — — 0.024 ng/0
P — — — — 0.000001 A — — — — — — — — — 0.000001 A ng/0
s — — — — 0.00000 1A — — — — — — — — — 0.000001 A ng/0
#l - - - — 0.005A i — — - — — — - — — 0.005 A ng/0
45 [7 = ) — v B - - - 0.0005 44 - - - - - - - — — 0.0005£: mg/0
BT (2R E(TOC) O i) 0.3K: 0.3 0.3 0.3 0.3t 0.5 0.3 0.3K ng/0
47 [p H it 7.2 7.5 7.3 7.5 7.2 7.4
48 IS Sl HiL
49 |5 S % AL
50 |5 3 LR LA LR LA LA LA LA LR LA i3
51 | 3 0. 1A 0. 1A 0. 1A 0. 1A 0. 1A 0. 1At 0. 1At 0. 1At 0. 1A 0. 14 0. 1At i3
7% [ [ Ed 0.4 0.3 0.3 0.2 0.3 0.3 0.4 0.4 0.4 0.2 0.3 mg/0




ARAERE RPHEGKRSG R KK KEEER (R #i R E

FAREH R R1.4.7 R1.5.16 R1.6.7 R4.7.7 R4.8.8 R1.9.6 R4.10.6 R4.11.8 R4.12.6 R5.1.16 R5.2.7 R5.3.7 i fE Sy HifiL
o [ wim i &Y i i i i &Y i &Y ] i ]
[EETE lih 29 lih i lih 29 29 i lih i 29 i
E [ 16.0 18.0 17.0 27.0 31.0 32.0 19.0 15.0 11.0 7.0 7.2 12.0 32.0 7.0 17.7 C
P [ 13.8 17.5 20.5 23.1 26.1 24.0 22.0 17.1 14.0 11.0 9.2 10.7 26.1 9.2 17.4 C
1| [ il 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fi5/mo
PRES 15 i AR g A A A g i A i A A A (—) (-) (—)
R vz o kA — — — — 0.0003 A — — - — — — — — — 0.0003 A mg/ 0
[NEE I — — — — 0.00005 4]l — — - — — — — — — 0.00005 4]l mg/Q
5 v v o ot A B — — — — 0.001 K — — — — — — — — — 0.001 A mg/ 0
6 |8 R [ 2 4 & L — 0.001 A - — 0.001 A — — 0.001 A — — 0.001 A — 0.001 Al 0.00 LA 0.00 1Al mg/ 0
Tl % R U2 o A W — — — — 0.001 A — — - — — — — — — 0.00 1Al mg/0
8 |~ fi s =] L it & ) — — — — 0.00244li — — - — — — — — — 0.00244l mg/Q
9 | I} i3 i = * - — — — 0.004 A — — - — — — — — — 0.004Al mg/Q
0| 7 b A F v kR OK ALy 7 — 0.001 A - — 0.001 A — — 0.001 A — — 0.001 A — 0.001 Al 0.00 LA 0.001 Al mg/ 0
NEEEEERNE YR T - 0.4 - - 0.3 - - 0.4 - - 0.5 - 0.5 0.3 0.4 mg/0
127 v £ kK U % o { A& B — 0.08 A — -~ 0.10 - — 0.08 A — -~ 0.09 — 0.10 0.08Aj 008K mg/ 0
Bl v % kK ® x o { A& B — — — — 0.02K# — — - — — — — — — 0.02K# mg/Q
14 | [ it B3 # - - - — 0.00024i — — - — — - — — — 0.00024i mg/0
15 |1 , 4- B %+ * k2 % — - — — 0005 — — - — — — — — — 0.005A4ili mg/ 0
16 FU A, G-V yanEF L — — — — 0.004 A — — — — — — — — — 0.004A mg/0
17 |2 s o o A 4 b — — — — 0.00244li — — — — — — — — — 0.002A mg/0
8l + 3 v v v T F L v — — — — 0.001 K — — — — — — — — — 0.001 A mg/Q
ol vV v w o= oz F v v — — — — 0.00 1Al — — — — — — — — — 0.00 1A mg/0
20 [~ v + b — — — — 0.001 Al — — — — — — — — — 0.00 1A mg/0
21 |4 # i — 0.06A - — 0.06:4%it5 — — 0.06A — — 0064 — 0064 0.06A 0064 mg/ 0
22 [~ = o i i — 0.002A]i - — 0.002A: — — 0.002A]i — — 0.002A: — 0.00244li 0.002Ai 0.00244l mg/ 0
23 |7 o 5] * v 2 — 0.006A]i - — 0.006A: — — 0.006A]i — — 0.006 A — 0.006 A4t 0.006 A 0.006 A4t mg/ 0
24 [¥ U o i it i - 0.003A] - — 0.003 A — — 0.003A]i — — 0.003 A — 0.003 A4l 0.003 A 0.003 A4l mg/ 0
»nly 7 v = 4 B m A &Y — 0.005A]i - — 0005 — — 0.005A ] — — 0.005A — 0.005A4ili 0.005 A 0.005A4ili mg/ 0
26 |5t % i — 0.001 A - — 0.001 A — — 0.001 A — — 0.001 A — 0.001 Al 0.00 LA 0.00 1Al mg/ 0
27 | k Y N o * 5 % — 0.01 A - — 0.0 1A — — 0.01 A — — 0.0 1K — 0.0 1K 0.01 A 0.0 1K mg/ 0
28 [~ ] 7 =] o i i — 0.003A] - — 0.003 A — — 0.003A]i — — 0.003 A — 0.003 A4l 0.003 A 0.003 A4l mg/ 0
2|7 v = ¥ s v owm oz x Y — 0.003A]i - — 0.003 A — — 0.003A]i — — 0.003 A — 0.003 A4l 0.003 A 0.003 A4l mg/ 0
30 [7 & 3 * v 2 — 0.005A ] - — 0005 — — 0.005A]i — — 0005 — 0.005A4ili 0.005 A 0.005A4ili mg/ 0
31 | v Iy 7 v 7 K - 0.008A]i - — 0.008 A — — 0.008Aii — — 0.008 A — 0.008 Al 0.008 A 0.008 Al mg/ 0
— — — — 0.0 1Al — — — — — — — — — 0.0 LA mg/0
— — — — 0.02Ai — — — — — — — — — 0.02:Ai5 mg/0
— — — — 0.03Ai — — — — — — — — — 0.03Ai5 mg/0
— — — — 0.0 1Al — — — — — — — — — 0.0 LA mg/0
— — — — 9.5 — — — — — — — — — 9.5 mg/0
— — - — 0.005Aj — — - — — — — — — 0.005A4ili mg/ 0
12 12 12 13 12 12 11 12 13 12 11 12 13 11 12 mg/0
— — — — 36 — — — — — — — — — 36 mg/0
— — — — 70 — — — — — — — — — 70 mg/0
— — — — 0.02Ai — — — — — — — — — 0.02:Ai5 mg/0
- - - - 0.000001 A — - - — — — -~ — — 0.000001 Ajif§ mg/ 0
- - - - 0.000001 A — - - — — — -~ — — 0.000001 Ajif§ mg/ 0
— — - - 0.005Aj — - - — — — -~ — — 0.005A4ili mg/ 0
45 |7 e / — v # — — — 0.0005Ai — — — — — 0.0005Aiti mg/0
BT R (A BRE(TOC) O i) 0.3 0.4 0.3t 0.3 0.4 0.3t 0.3 mg/ 0
47 [p H i 6.6 6.7 6.7 6.8 6.6 6.7
48 S HiL Sl ;7
49 |5 & L
50 |5 3 LR LA LA LA LR LA LA i3
51 | g 0. 1A 0. 1A 0. 1At 0. 1At 0. 1At 0. 1At 0. 1A 0. 1A 0. 1A 0. 1A i3
7% ] [ # 0.4 0.3 0.4 0.3 0.4 0.4 0.3 0.5 0.3 0.4 mg/0




DRAERE IR ARk BRI () il R

FAREH R R4.4.11 R4.5.17 R4.6.9 R1.7.11 R4.8.15 R1.9.8 R4.10.11 R4.11.10 R4.12.8 R5.1.17 R5.2.9 R5.3.9 IR i fiel ) Hifr
o [ wim i 2y (Y 2y i 2y i [ (Y ifi i [
IET i [ i [ i 2y (Y [ i 2y (Y [
E i 21.2 18.0 22.0 30.0 31.0 25.3 18.7 15.5 11.0 5.5 7.0 18.0 31.0 5 18.6 C
P i 13.8 16.4 18.5 23.5 24.0 23.9 18.3 14.9 119 9.5 7.7 10.2 24.0 16.1 C
1| % il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fiEl/me
PRES 15 i R A g i A A g i A i A A (-) (—) (-)
s F 3 v oa R U Z 0 A& WY — — — — 0.0003 A — — - — — — — — — 0.0003 A ng/0
1k B/ R U oz o & & P — — — — 0.00005Ai — — - — — — — — — 0.00005Ai ng/0
5|2 v v R OV %2 o kb & B — — — — 0.00 1A — — — — — — — — — 0.001 A ng/0
6 |8 R ¢ & o & o — — — — 0.001 A — — - — — — — — — 0.00 1A ng/0
7l # R OV 2 o b & B — — — — 0.00 1A — — - — — — — — — 0.00 1A ng/0
8 & fi U i A e & 0w — — — — 0.002A]i — — - — — — — — — 0.002Ai ng/0
9 | I} i3 i e * - 0.004Al — — 0.004A]i — — 0.004 A — — 0.004A]i — 0.004 A 0.004A4l 0.004 A ng/0
0| 7 v b A4 v R OHEH LY 7 v — 0.00 1Al - — 0.001 A — — 0.001 A — — 0.001 A — 0.00 LA 0.00 1Al 0.00 1A ng/0
EEREEREERNE R EE — 0. 1A — — 0.2 — — 0.1 — — 0.1 — 0.2 0. 1A 0.1 ng/0
127 v £# kK ® % o { A& B — 0.08AKi# - — 0.08 A - -~ 0.084it] - - 0.08 A — 0.08 A 0.08Ki# 0,08 ng/0
Blx v % kB ¥ o £ A& B — — — — 0,024 — — - — — — — — — 0,024 ng/0
14 |0 i (4 I3 % - — — — 0.0002A:]i — — - — — — — — — 0.0002Ai ng/0
15 |1 1- v + ¥ i v — — — — 0.005 A — — — — — — — — — 0.005A: 4w ng/0
16 AL AT T 7 =1, v 7= 7 7 7 - UUU‘iK'}% o o o o o - o o . UUU‘iK'}% mg,/Q
17 |2 7 o o A 4 v — — — — 0.002Ai — — — — — — — — — 0.002A: 4 ng/0
B8l +~ 3 v wm w = F L — — — — 0.001 A4 — — — — — — — — — 0.001 A0 mg/0
wlr v o7 mr B =z F v — — — — 0.00 1A — — — — — — — — — 0.00 LA ng/0
20 |~ P2 + P — — — — 0.00 LA — — — — — — — — — 0.001 A ng/0
21 |4 ES it — 0064 — — 0.14 — — 006K — — 0.06A — 0.14 0064 0.06A ng/0
22 |7 = 5 i A — 0.002A:4 - — 0.002A]i — — 0.002A:4 — — 0.002A]i — 0.002Ai 0.00244li 0.002Ai ng/0
23 |7 o 5 * v A — 0.006 A — — 0.006A ] — — 0.006 A — — 0.006A]i — 0.006 A 0.006 A4t 0.006 A ng/0
24 [v s o =] i3 A - 0.003 A4l — — 0.003A]i — — 0.003 A — — 0.003A]i — 0.003 A 0.003 A4l 0.003 A ng/0
»w|ly 7 m o= v m o owm A H v - 0.005 A - — 0.005A ] — — 0005 — — 0.005A ] — 0.005 A 0.005A4il 0.005 A ng/0
26 |5t * it — 0.001 A - — 0.001 A — — 0.001 A — — 0.001 A — 0.00 1A 0.00 1Al 0.00 1A ng/0
27 | h ] ~ o 2 4 > - 0.0 1K — — 0.01 — — 0.0 1K — — 0.01 A — 0.01 0.0 1K 0.01 A ng/0
28 [~ ] s = = i A - 0.003 K - — 0.003 A — — 0.003 — — 0.003A]i — 0.003 A 0.003 Al 0.003 A ng/0
9|7 v = v s m v 2 x v - 0.003 A - — 0.003A]i — — 0.003 A — — 0.003A]i — 0.003 A 0.003 A4l 0.003 A ng/0
30 [7 =] = * v 2 — 0.005 A - — 0.005A i — — 0005 — — 0.005A]i — 0.005 A 0.005A4ili 0.005 A ng/0
31 | v Iy 7 v 7 k — 0.008 A - — 0.008Aii — — 0.008 A — — 0.008A]i — 0.008 A 0.008 Al 0.008 A ng/0
2l % Kk O o k A& @ — — — — 0.01 A — — - — — — — — — 0.01 A ng/0
B7 v I = Lk B2 0 AEY — 0.02 - — 0.03 — — 0.02:Ait5 — — 0,024 — 0.03 0.02K# 0.02A4 ng/0
34 |8k R vz e & o — — — — 0.03 A4l — — — — — — — — — 0.03A4l ng/0
35 |8 R vz R4 & o — — — — 0.0 1A — — — — — — — — — 0.0 1A ng/0
[ PV Y oA R B E DAY - - - — 8.8 — — - - — - — — — 8.8 mg/0
|~ v H v R VB Ot A W — — — — 0.005 A — — — — — — — — — 0.005A i ng/0
: 14 13 13 13 14 13 13 13 14 12 13 12 14 12 13 mg/0
— — — — 39 — — — — — — — — — 39 mg/0
— — — — 80 — — — — — — — — — 80 mg/0
— — — — 0.0244l — — — — — — — — — 0.024 ng/0
42 | e + = 2 >| 0.0000017# | 0.0000014# | 0.000001 A 0.000001 4 0.000001£7# | 0.000001Ki# | 0.000001 A — — — — 0.000001A# | 0.000001i# | 0.000001 K ng/0
4312- A F M A Y K v xS — s 0.000001A | 0.000001AiH | 0.000001 A 0.000001Ai# | 0.000001A# | 0.000001Ai | 0.000001 A — — — — 0.0000014# | 0.000001i# | 0.000001 K ng/0
4“4k 4 & v R oom W A - — — 0.005A ] — - - — — — - — — 0.005 A ng/0
45 |7 - J — v il — — — 0.0005 A — — — — — — — 0.0005A i ng/0
BT (2RO BRF(TOC) 0 ) 0.3K4 0.3K 0.4 0.5 0.3 0.3K ng/0
47 [p H [ 7.5 7.5 7.6 7.2 7.4
48 Uk HiL
49 | & A g
50 [ 3 LA LA LA LR LA LR LA i3
51 | 3 0. 1At 0. 1At 0. 1At 0. 1At 0. 1At 0. 1A 0. 14 0. 1A 0. 1A 0. 1At i3
7% # [ # 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.5 0.3 0.4 mg/0




DRIAENE MEGARY: #aK KB FER (A ff R

FAREH R R4.4.11 R1.5.17 R4.6.9 R4.7.11 R1.8.15 R1.9.8 R4.10.11 R4.11.10 R4.12.8 R5.1.17 R5.2.9 R5.3.9 i fE Sy Hifr
o [ i i 29 29 29 i 29 [ i &Y i [ i
EEE [ i [ i [ 2y i [ (Y 2y i
E i 21.5 19.0 20.0 30.0 315 25.3 20.0 16.5 12.0 5.5 6.5 17.0 315 5.5 18.7 C
P i 13.7 18.1 20.7 26.8 27.3 26.3 20.3 15.8 12.2 9.1 7.1 9.1 27.3 7.1 17.2 C
1| [ il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fiEl/me
PRES 15 i AR A i g A g i g i A i A (—) (-) (-)
s|nm K v w0k AW — - — — 0.0003 A — — - — — — — — — 0.0003 A ng/0
1k #®]OR = o f & W — — — — 0.00005 4]l — — - — — — — — — 0.00005 A4l ng/0
50« v v R O®” 2 o { & B — — — — 0.00 1Al — — — — — — — — — 0.00 1A ng/0
6 |8 3 9 * 2 it a [ — 0.001 A - — 0.001 A — — 0.001 A — — 0.001 A — 0.001 Al 0.00 1A 0.00 1Al ng/0
7l # KR OV 2 o f A& B — — — — 0.001 Al — — - — — — — — — 0.00 1Al ng/0
8 |~ i 7 =1 IS k& = L7 — - — — — — — — — — — — — 0.002 A7 mg/0
9 | i i3 & £ F# — — — — i — — — — — — — — — 0.004 A mg/ 0
Wl 7 vk WA F v kO HEALY 7 v — 0.001 A - — 0.001 A — — 0.001 A — — 0.001 A — 0.001 Al 0.00 1A 0.00 1Al ng/0
N EE R YR T - 0.1 - - 0.1 - - 0.2 - - 0.3 - 0.3 0.1 0.2 mg/0
12z v £ kB v z o k& A& B — 0,08 - -~ 0.08AKi# - — 0.08 A - -~ 0.08Ki# — 008K 0.08 A 008K ng/0
Blx v % kK ¥z o {k A& B — — — — 0.02K# — — - — — — — — — 0.02K# ng/0
14 [ i (4 3 % - — — — 0.0002Aiti — — - — — — — — — 0.0002 i ng/0
15 |1 , 4- B * * & v — - — — 0005 — — - — — — — — — 0.005A4ili ng/0
16 [ %-1, 2-¥rpnzFLr RURIL Z-1, 2-P/nuxF Lo — — — — 0.004 415 — — - — — — — — — 0.004 A5l mg/ 0
17 [¥ s = = £ 5 v — — — — 0.0024 — — - — — — — — — 0.002A:4 ng/0
8l ~ ¥ 7 ®w w = F L v — — — — 0.001 At — — — — — — — — — 0.001 At mg/0
19 [k Yy s 5 o T v — — — — 0.00 1Al — — — — — — — — — 0.00 1A ng/0
20 [~ v ¥ v — — — — 0.001 Al — — — — — — — — — 0.00 1A ng/0
21 |4 ES it - 0.06 A — — 0.11 — — 0.06A — — 006K — 0.11 0.06A 0064 ng/0
22 |7 = =] i3 A — 0.002A]i - — 0.002A:4 — — 0.002A]i — — 0.002A:4 — 0.00244li 0.002Ai 0.00244l ng/0
23 |7 = 5 * v 2 — 0.011 - — 0.019 — — 0.006A]i — — 0.006 A — 0.019 0.006A]i 0.008 mg/0
24 v G & i it - 0.009 - — 0.011 — — 0.004 — — 0.003 — 0.011 0.003 4 0.007 mg/0
%l 7 = = s m o owm A H v — 0.005 — — 0.010 — — 0.007 — — 0.006 — 0.010 0.005 0.007 mg/0
26 |5t ES A - 0.003 — — 0.001 A — — 0.001 A — — 0.001 A — 0.003 0.001 A 0.00 1Al ng/0
27 [ 3 ] »\ o A 4 v — 0.03 - — 0.05 — — 0.02 — — 0.02 — 0.05 0.02 0.03 mg/0
28 |} y s o & i i — 0.009 — — 0.013 — — 0.003 — — 0.003Aj — 0.013 0.003A 4 0.006 ng/0
w7 = = v s m om oz x v — 0.009 — — 0.017 — — 0.007 — — 0.006 — 0.017 0.006 0.010 mg/0
30 [7 o B3 & v A — 0.005A]i - — 0005 — — 0.005A i — — 0005 — 0.005A4ili 0.005 A 0.005A4ili ng/0
31 | v N 7 v 7 t I — 0.008Aii - — 0.008 A — — 0.008A]ii — — 0.008 A — 0.008 Al 0.008 A 0.008 Al ng/0
2| Kk O o fk & W — — — — 0.0 1K — — - — — — — — — 0.0 1K ng/0
Bl7 v I = v 8RO ZE O AEY — 0.04 - — 0.05 — — 0.02A — — 0.02K# — 0.05 0,024 0.02 mg/0
34 |8k 3 9 * 2 it a [ — — - — 003K — — - — — — — — — 003K ng/0
35 |4 3 9 * 2 it a [ — — — — 0.0 1K — — - — — — — — — 0.0 1K ng/0
[ KV Yon R B ZE 0L AW - - - — 13 — — - - — - — — — 13 mg/0
3|~ v H v R OO 0 b AW — — — — 0.005A4iti — — — — — — — — — 0.005 A ng/0
38 [ [ [ K * v 15 15 16 16 16 15 15 16 16 14 16 15 16 14 15 mg/0
BB R EN Y T T - - - - 18 - - - - - - - — — 18 mg/0
B 7% i 17 — — — — 70 — — — — — — — — — 70 mg/0
A4 A4 v R m & A - — — — 0.02K# — - - — — — -~ — — 0.02K# ng/0
- ER B < ~| 0.000001A%i | 0.00000 1A 0.000001 0.000001 A | 0.0000017# | 0.000001Ai# | 0.0000014H# | 0.000001 A - — — — 0.000001 0.000001 At | 0.000001 A ng/0
43 [2- A F v A4 Y K v x4 — Jb| 0.000001A4j# | 0.000001Ai# | 0.000001A# | 0.000001Ai | 0.000001A# [ 0.000001Aiii | 0.0000014i | 0.00000 1A — — — — 0.0000017# | 0.000001i# | 0.000001 4 ng/0
4 4 & v R oom W\ A - — — — 0005 — - - — — — -~ — — 0.005A4ili ng/0
45 |7 - J — v H — — — — 0.0005 A — — — — — — — — — 0.0005Aiti ng/0
46 (17 (2R FE(CTOC) O fi) 0.6 0.4 0.5 0.3 0.3t 0.6 0.3t 0.4 ng/0
47 [p H [ 7.3 7.3 7.2 7.5 7.1 7.3
48 3 Hiial Hiial
49 |5 S HiL ;.
50 |5 i LA 1 JESG] LA LR LA 1 LA LA i3
51 | 3 0. 1At 0. 1A 0. 1At 0. 1A 0. 1A 0. 1At 0. 1A 0. 14 0. 1A 0. 1A 0. 1A 0. 1A i3
7% ] [ * 0.4 0.3 0.3 0.6 0.5 0.5 0.5 0.5 0.6 0.6 0.3 0.5 mg/0




ARAERE PEHSFERG R KK KEEER (R # R

FRAEH H R4.4.18 R4.5.24 R4.6.16 R4.7.19 R4.8.25 R4.9.15 R4.10.18 R4.11.17 R4.12.15 R5.1.24 R5.2.16 R5.3.16 i fE Sy
o [ wn [ i 2y (Y 2y i ifi i [ (Y 2y i
[ %n [ i 2y i i ifi i 2y i = D
E [ 17.5 26.5 24.0 23.0 25.5 28.5 14.0 9.0 2.0 4.0 2.0 17.5 28.5 2.0 16.1 C
P [ 14.9 19.8 21.1 26.1 26.3 26.4 20.6 15.2 10.9 7.3 6.0 11.8 26.4 6.0 17.2 C
1| % il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fi5/mo
PRES 15 i AR g A g i g A g i A A A (-) (-) (-)
sl F I v oA R E 0 k&Y — — — — 0.0003 A — — - — — — — — — 0.0003 A mg/Q
4k O R B 2 o B B Y — — — — 0.00005Aji — — — — — — — — — 0.00005Aji mg/0
5| v v B O % o {k & B — — — — 0.00 1Al — — — — — — — — — 0.001 A mg/Q
6 |8 )3 S 2 (4 a L — — — — 0.001 A — — - — — — — — — 0.001 Al mg/ 0
D — — — — 0.001 A — — - — — — — — — 0.00 1Al mg/0
8 & i i B 4 a L — — — — 0.002A:4 — — - — — — — — — 0.00244l mg/0
9 | ity i3 & = * - — — — 0.004 A — — - — — — — — — 0.004Al mg/0
Wl 7w A+ v kR CHE ALy 7 v — 0.001 A — — 0.001 A - — 0.001 A - — 0.001 A — 0.00 1Al 0.00 1A 0.001 Al me/0
NEEEEE N T - 0.7 - - 0.4 - - 0.8 - - 0.9 — 0.9 0.4 0.7 mg/0
12z v £ kR O % o { & B — 0,08 — -~ 0.08 - — 0.08 A — -~ 0.09 — 0.09 0.08Aj 0.08Ki# mg/ 0
Bls v % kR ¥ o {t & B - - — — 00254 -~ — - - — - — — — 00254 mg/0
14 |0 4 1% * - — — — 0.0002Aiti — — - — — — — — — 0.0002 i mg/Q
15 |1 , 4- v %+ * k2 % — - — — 0005 — — - — — — — — — 0.005A4ili mg/ 0
16 [2 %1, 2-v 7z F Lo RUNT Y 21, -V /aaxFLy — — — — 0.004 A3 — — — — — — — — — 0.004 A mg/0
17 |2 7 o o A 5 b — — — — 0.00244l — — — — — — — — — 0.0024 mg/0
B8l ~ 3 r w =wvB = F L — — — — 0.001 At — — — — — — — — — 0.001 At mg/0
Wik vV sy m m = F L v — — — — 0.00 1Al — — — — — — — — — 0.001 A mg/Q
20 [~ v ¥ b — — — — 0.00 1Al — — — — — — — — — 0.00 1A mg/0
21 |4 # i — 0.06 A — — 0.11 - — 0.06A - — 0064 — 0.11 0.06A 0064 mg/ 0
22 [~ o o i i — 0.002A]i — — 0.002A:4 - — 0.002A]i - — 0.002A: — 0.00244l 0.002Ai 0.00244l mg/ 0
23 |7 = 5 * v 2 — 0.006A]i — — 0.006 A — — 0.006A47 - — 0.006 A — 0.006 A4t 0.006 A 0.006 A4t mg/ 0
24 | G o o i i — 0.003A]i — — 0.003 A - — 0.003A]i - — 0.003 A — 0.003 A4l 0.003 A 0.003 A4l mg/ 0
%y 7 v = 4 wm o ow A & v — 0.005A]i — — 0005 - — 0.005A]i - — 0.005A — 0.005A4ili 0.005 A 0.005A4ili mg/ 0
26 |5t % i — 0.001 A — — 0.001 A - — 0.001 A - — 0.001 A — 0.00 1Al 0.00 1A 0.001 Al mg/ 0
27 | b y ~ o A 4 % — 0.01 A — — 0.01 - — 0.01 A - — 0.0 1K — 0.01 0.01 A 0.0 1K mg/ 0
28 [} y U o o i i — 0.003A] — — 0.003 A - — 0.003A]i - — 0.003 A4l — 0.003 A4l 0.003 A 0.003 A4l mg/ 0
2|7 v = ¥ s wm w2z & v — 0.003A]i — — 0.003 - — 0.003A]i - — 0.003 A — 0.003 0.003A]i 0.003 A4l mg/ 0
30 |7 o 3 & v 2 — 0.005A]i — — 0005 - — 0.005A]i - — 0.005 A — 0.005A4ili 0.005 A 0.005A4ili mg/ 0
31 | v N 7 v 7 t K — 0.008Aii — — 0.008 A - — 0.008Aii - — 0.008 A — 0.008 Al 0.008 A 0.008 Al mg/ 0
2| % Kk VB x o A& B — — — — 0.0 1K — — - — — — — — — 0.0 1K mg/Q
B|I7 v I = v A KV O EY — — — — 0.02:4il5 — — — — — — — — — 0.02 K4 mg/Q
34 |8k % 9 % 2 (4 a L — — — — 0.034il5 — — — — — — — — — 0.034il5 mg/Q
35 |4 % S 2 (4 a L — — — — 0.0 1K — — - — — — — — — 0.0 1K mg/Q
[ KUY oA R O E O LAWY - - — — 7.9 - — - - — - — — — 7.9 mg/0
3|~ v H v R OB o b A B — — — — 0.005A4ili — — — — — — — — — 0.005 A mg/0
8.6 8.4 8.2 8.2 8.2 8.1 7.3 7.9 8.5 7.7 8.6 8.9 8.9 7.3 8.2 mg/0
— — — — 37 — — — — — — — — — 37 mg/0
— — — — 90 — — — — — — — — — 90 mg/0
— — — — 0.02Ai — — — — — — — — — 0.02:Ait5 mg/0
12 | = * 2 2 % — - — - 0.000001 Al — — - — — — -~ — — 0.000001 Ajif§ mg/Q
312- A F v A4 Y K A F A = — — — — 0.000001 At — — — — — — — — — 0.000001 Ajif§ mg/0
4“4k 4 F v R m W A - — — — 0.005A — - - — — — -~ — — 0.005A4ili mg/ 0
45 |7 = / — v i — - 0.00054i - - - - - - - — — 0.00054 mg/ 0
Bl RY (A BRE(TOC) © ) 0.3 0.3 0.3t 0.3K 0.4 0.3t 0340 mg/ 0
47 [p H i 7.0 7.3 7.1 7.5 6.9 7.2
48 S Sl HiL
49 | & & 1
50 |5 B LA LA LA LR LA LA i3
51 | £ 0. 1At 0. 1At 0. 1K 0. 1A 0. 1At 0. 1A 0. 1A 0. 14 0. 1K 0. 1A i3
7% [ H # 0.4 0.2 0.3 0.3 0.3 0.4 0.4 0.4 0.2 0.3 mg/0




DR SEEARES AR CE IR (REr) fi R

FAREH R R4.4.19 R4.5.26 R4.6.20 R4.7.21 R4.8.29 R1.9.20 R4.10.20 R4.11.21 R4.12.19 R5.1.26 R5.2.20 R5.3.23 IR i fiel ) Hifr
o [ wim i 2y i [ i 2y i 2y i % i [
IEET i [ (Y [ i ifi i [ i [ i ifi
E i 19.5 28.5 29.5 28.5 29.0 21.0 20.5 17.0 4.5 1.0 7.0 18.0 29.5 4.0 18.9 C
P i 15.5 20.9 22.2 25.5 25.6 27.0 18.0 16.6 12.5 9.0 9.5 16.0 27.0 9.0 18.2 C
1| % il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fiEl/me
PRES 15 i R A g i A A g i A i A A (-) (—) (-)
s F 3 v oa R U Z 0 A& WY — — — — 0.0003 A — — - — — — — — — 0.0003 A ng/0
1k B/ R U oz o & & P — — — — 0.00005Ai — — - — — — — — — 0.00005Ai ng/0
5|2 v v R OV %2 o kb & B — — — — 0.00 1A — — — — — — — — — 0.001 A ng/0
6 |8 R ¢ & o & o — — — — 0.001 A — — - — — — — — — 0.00 1A ng/0
7l # R OV 2 o b & B — — — — 0.00 1A — — - — — — — — — 0.00 1A ng/0
8 & fi U i A e & 0w — — — — 0.002A]i — — - — — — — — — 0.002Ai ng/0
9 | I} i3 i e * - — — — 0.004A]i — — - — — — — — — 0.004A]i ng/0
0| 7 v b A4 v R OHEH LY 7 v — 0.001 A — — 0.001 A - — 0.001 A - — 0.001 A — 0.00 LA 0.00 1Al 0.00 1A ng/0
N EEFEYE YT EE - 0.4 - - 0.2 - - 0.6 - - 0.7 — 0.7 0.2 0.5 mg/0
127 v £# kK ® % o { A& B - 0.10 - - 0.12 — — 0.084it] - - 0.08 A — 0.12 0.08Ki# 0,08 ng/0
Blx v % kB ¥ o £ A& B — — — — 0,024 — — - — — — — — — 0,024 ng/0
14 |0 i (4 I3 % - — — — 0.0002A:]i — — - — — — — — — 0.0002Ai ng/0
15 |1 1- v + ¥ i v — — — — 0.005 A — — — — — — — — — 0.005A: 4w ng/0
16 AL AT T 7 =1, v 7= 7 7 — - UAUU"1K']$ o o o - o - o o . UAUU"1K']$ mg,/g
17 |2 7 o o A 4 v — — — — 0.002Ai — — — — — — — — — 0.002A: 4 ng/0
B8l +~ 3 v wm w = F L — — — — 0.001 A4 — — — — — — — — — 0.001 A0 mg/0
wlr v o7 mr B =z F v — — — — 0.00 1A — — — — — — — — — 0.00 LA ng/0
20 |~ P2 + P — — — — 0.00 LA — — — — — — — — — 0.001 A ng/0
21 |4 ES it — 0064 — — 0.06A - — 0.06:4%it5 - — 0.06A — 0.06A 0064 0.06A ng/0
22 |7 = 5 i A — 0.002A:4 — — 0.002A]i - — 0.002A:4 - — 0.002A]i — 0.002Ai 0.00244li 0.002Ai ng/0
23 |7 o 5 * v A — 0.006 A — — 0.006A ] - — 0.006 A - — 0.006A]i — 0.006 A 0.006 A4t 0.006 A ng/0
24 [v s o =] i3 A - 0.003 A4l — — 0.003A]i - — 0.003 A - — 0.003A]i — 0.003 A 0.003 A4l 0.003 A ng/0
»w|ly 7 m o= v m o owm A H v - 0.005 A — — 0.005A ] - — 0005 - — 0.005A ] — 0.005 A 0.005A4il 0.005 A ng/0
26 |5t * it — 0.001 A — — 0.001 A - — 0.001 A - — 0.001 A — 0.00 1A 0.00 1Al 0.00 1A ng/0
27 | h ] ~ o 2 4 > - 0.0 1K — — 0.01 A - — 0.0 1A - — 0.01 A — 0.01 A 0.0 1K 0.01 A ng/0
28 [~ ] s = = i A - 0.003 K — — 0.003 A - — 0.003 A - — 0.003A]i — 0.003 A 0.003 Al 0.003 A ng/0
9|7 v = v s m v 2 x v - 0.003 A — — 0.003A]i - — 0.003 A - — 0.003A]i — 0.003 A 0.003 A4l 0.003 A ng/0
30 [7 =] = * v 2 — 0.005 A — — 0.005A i - — 0005 - — 0.005A]i — 0.005 A 0.005A4ili 0.005 A ng/0
31 | v Iy 7 v 7 k — 0.008 A — — 0.008Aii - — 0.008 A - — 0.008A]i — 0.008 A 0.008 Al 0.008 A ng/0
2l % Kk O o k A& @ — — — — 0.01 A — — - — — — — — — 0.01 A ng/0
B|7 I =y AR E O AEW — — — — 0.0244l — — — — — — — — — 0.02 A4 ng/0
34 |8k R vz e & o — — — — 0.03 A4l — — — — — — — — — 0.03A4l ng/0
35 |8 R vz R4 & o — — — — 0.0 1A — — — — — — — — — 0.0 1A ng/0
[ PV Y oA R B E DAY - - — — 8.2 - — - - — - — — — 8.2 mg/0
|~ v H v R VB Ot A W — — — — 0.005 A — — — — — — — — — 0.005A i ng/0
: 6.9 7.0 6.9 6.8 6.6 6.8 6.2 6.8 7.0 6.8 7.2 7.1 7.2 6.2 6.8 mg/0
— — — — 41 — — — — — — — — — 41 mg/0
— — — — 80 — — — — — — — — — 80 mg/0
— — — — 0.0244l — — — — — — — — — 0.024 ng/0
42 | = ER A 3 P — — — — 0.000001 4 - — — — — — — — — 0.000001 Al ng/0
B3l A F L 4 YV K L x F = — — — - 0.000001 At - — — — — — — — — 0.000001 Al ng/0
4“4k 4 & v R oom W A - — — — 0.005A ] — - - — — — - — — 0.005 A ng/0
45 |7 - J — v il — — 0.0005 A — — — — — — — — 0.0005A i ng/0
BT (2RO BRF(TOC) 0 ) 0.3 0.3 0340 0.3K 0.3 0.4 0.3 0.3K ng/0
47 [p H it 7.2 7.1 7.1 7.1 7.1 7.6 7.0 7.2
48 LS B Sl HiL ;7 ;7
49 |5 £ 7 HiL ;.
50 [ 3 LA LR LA LA LR LA LR LA i3
51 | 3 0. 1At 0. 1At 0. 1At 0. 1A 0. 1A 0. 1At 0. 1A 0. 14 0. 1A 0. 1A 0. 1At i3
7% # [ # 0.4 0.3 0.2 0.4 0.3 0.4 0.4 0.4 0.4 0.2 0.3 mg/0




AR Ve KGR KK KEEER (R # R

FAREH R R1.4.7 R1.5.16 R1.6.7 R4.7.7 R4.8.8 R1.9.6 R4.10.6 R4.11.8 R4.12.6 R5.1.16 R5.2.7 R5.3.7 i fE Sy HifiL
o [ wim [ (Y [ i [ i 2y i 2y i i
[EETE [ (Y [ i [ (Y 2y i [ i i
E [ 19.0 18.5 18.0 27.0 32.0 31.5 19.0 17.0 10.0 6.0 6.5 12.0 32.0 6.0 18.0 C
P [ 13.3 17.5 20.5 25.7 27.5 24.0 22.0 16.6 13.1 10.8 8.3 9.0 27.5 8.3 17.4 C
1| [ il 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fi5/mo
PRES 15 AR g A A A g i A i A A A (—) (-) (—)
R vz o kA — — — — 0.0003 A — — - — — — — — — 0.0003 A mg/ 0
[NEE ot A Y — — — — 0.00005 4]l — — -~ — — — — — — 0.000054 i mg/Q
5 v v o ot A B — — — — 0.001 K — — — — — — — — — 0.001 A mg/ 0
6 |8 R S 2 4 & L — — — — 0.001 A — — - — — — — — — 0.00 1Al mg/ 0
Tl % R U2 o A W — — — — 0.001 A — — - — — — — — — 0.00 1Al mg/0
8 |~ fi s =] L it & ) — — — — 0.00244li — — - — — — — — — 0.00244l mg/Q
9 | I} i3 i = * - — — — 0.004 A — — - — — — — — — 0.004Al mg/Q
0| 7 b A F v kR OK ALy 7 — 0.001 A - — 0.001 A — — 0.001 A — — 0.001 A — 0.001 Al 0.00 LA 0.001 Al mg/ 0
G R EER R NN BN — 0.2 — — 0. 1A — — 0.4 — — 0.6 — 0.6 0. 1A 0.3 mg/ 0
2z v % KR O % o £ A& B - 0.12 - - 0.14 - - 0.13 - - 0.15 - 0.15 0.12 0.14 mg/0
Bl v % kK ® x o { A& B — — — — 0.02K# — — - — — — — — — 0.02K# mg/Q
14 | [ it B3 # - - - — 0.00024i — — - — — - — — — 0.00024i mg/0
15 |1 , 4- B %+ * k2 % — - — — 0.005A4ili — — - — — — — — — 0.005A4ili mg/ 0
16 FU A, G-V yanEF L — — — — 0.004 A — — — — — — — — — 0.004A mg/0
17 |2 s o o A 4 b — — — — 0.00244li — — — — — — — — — 0.002A mg/0
B8l + 3 v v v = F L Y — - — — 0.001 K — — — — — — — — — 0.001 A mg/Q
ol v s = o= = F L v — — — — 0.00 1Al — — — — — — — — — 0.00 1A mg/0
20 [~ v + b — — — — 0.001 Al — — — — — — — — — 0.00 1A mg/0
21 |4 # i — 0.06A - — 0.06:4%it5 — — 0.06A — — 0064 — 0064 0.06A 0064 mg/ 0
22 |7 = o i i — 0.002A]i - — 0.002A: — — 0.002A]i — — 0.002A: — 0.00244li 0.002Ai 0.00244l mg/ 0
23 |7 o 5] * v 2 — 0.006A]i - — 0.006A: — — 0.006A]i — — 0.006 A — 0.006 A4t 0.006 A 0.006 A4t mg/ 0
24 [¥ U o i it i - 0.003A] - — 0.003 A — — 0.003A]i — — 0.003 A — 0.003 A4l 0.003 A 0.003 A4l mg/ 0
»nly 7 v = 4 B m A &Y — 0.005A]i - — 0005 — — 0.005A ] — — 0.005A — 0.005A4ili 0.005 A 0.005A4ili mg/ 0
26 |5t % i — 0.001 A - — 0.001 A — — 0.001 A — — 0.001 A — 0.001 Al 0.00 LA 0.00 1Al mg/ 0
27 | k Y N o * 5 % — 0.01 A — — 0.0 1A — — 0.01 A — — 0.0 1K — 0.0 1K 0.01 A 0.0 1K mg/ 0
28 [} ] 7 =] o i i — 0.003A] - — 0.003 A — — 0.003A]i — — 0.003 A — 0.003 A4l 0.003 A 0.003 A4l mg/ 0
2|7 v = ¥ s v owm oz x Y — 0.003A]i - — 0.003 A — — 0.003A]i — — 0.003 A — 0.003 A4l 0.003 A 0.003 A4l mg/ 0
30 |7 = B3 * v 2 — 0.005A ] - — 0005 — — 0.005A]i — — 0005 — 0.005A4ili 0.005 A 0.005A4ili mg/ 0
31 | v Iy 7 v 7 K - 0.008A]i - — 0.008 A — — 0.008Aii — — 0.008 A — 0.008 Al 0.008 A 0.008 Al mg/ 0
— — — — 0.0 1Al — — — — — — — — — 0.0 LA mg/0
— 0.02A — — 0.02:Ait5 — — 0.03 — — 0.04 — 0.04 0.02A 0.02:Ai5 mg/0
— — — — 0.03Ai — — — — — — — — — 0.03Ai5 mg/0
— — — — 0.0 1Al — — — — — — — — — 0.0 LA mg/0
— — — — 12 — — — — — — — — — 12 mg/0
— — - — 0.005Aj — — - — — — — — — 0.005A4ili mg/ 0
16 15 16 16 15 14 14 15 16 14 15 16 16 14 15 mg/0
— — — — 49 — — — — — — — — — 49 mg/0
- 100 - - 80 - - 90 - - 90 - 100 80 90 mg/0
— — — — 0.02Ai — — — — — — — — — 0.02:Ai5 mg/0
- - - - 0.000001 A — - - — — — -~ — — 0.000001 Ajif§ mg/ 0
- - - - 0.000001 A — - - — — — -~ — — 0.000001 Ajif§ mg/ 0
— — - - 0.005Aj — - - — — — -~ — — 0.005A4ili mg/ 0
45 |7 e / — v # — — — 0.0005Ai — — — — — — 0.0005Aiti mg/0
BT R (A BRE(TOC) O i) 0.3 0.3K: 0.3 0.3 0.3t 0.3 0.3t 0.3 mg/ 0
47 [p H i 7.1 7.2 7.1 7.2 7.3 7.1 7.2
48 S HiL Sl
49 |5 & L
50 |5 3 LR LA LA LA LR LA LA i3
51 | g 0. 1A 0. 1A 0. 1At 0. 1At 0. 1At 0. 1At 0. 1A 0. 1A 0. 1A 0. 1A i3
7% ] [ # 0.4 0.4 0.3 0.4 0.5 0.3 0.5 0.5 0.3 0.4 mg/0




DRIAENE RIR AR ARk CE R () il RS

FAREH R R4.4.7 R4.5.16 R4.6.7 R4.7.7 R1.8.8 R1.9.6 R4.10.6 R4.11.8 R4.12.6 R5.1.16 R5.2.7 R5.3.7 IR i fiel ) Hifr
o [ wim i &Y i i i i &Y i &Y 5} i 5}
IEET i 29 i [ i 2y (Y [ i ifi (Y [
E i 14.0 17.6 18.3 26.8 30.0 31.0 18.5 13.0 9.0 6.0 7.0 9.0 31.0 6.0 16.7 C
P i 14.3 18.2 21.3 26.5 28.5 25.6 23.0 17.3 13.5 11.1 7.9 10.3 28.5 7.9 18.1 C
1| % il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fiEl/me
PRES 15 i R A g i A A g i A i A A (-) (—) (-)
s F 3 v oa R U Z 0 A& WY — — — — 0.0003 A — — - — — — — — — 0.0003 A ng/0
1k B/ R U oz o & & P — — — — 0.00005Ai — — - — — — — — — 0.00005Ai ng/0
5|2 v v R OV %2 o kb & B — — — — 0.00 1A — — — — — — — — — 0.001 A ng/0
6 |8 R ¢ & o & o — — — — 0.001 A — — - — — — — — — 0.00 1A ng/0
7l # R OV 2 o b & B - 0.001 — — 0.001 A — — 0.002 — — 0.001 A — 0.002 0.001 A 0.00 1A ng/0
8 & fi U i A e & 0w — — — — 0.002A]i — — - — — — — — — 0.002Ai ng/0
9 | I} i3 i e * - — — — 0.004A]i — — - — — — — — — 0.004A]i ng/0
0| 7 v b A4 v R OHEH LY 7 v — 0.001 A - — 0.001 A — — 0.001 A — — 0.001 A — 0.00 LA 0.00 1Al 0.00 1A ng/0
N EEFEYE YT EE - 0.4 - - 0.4 - - 0.5 - - 0.7 - 0.7 0.4 0.5 mg/0
127 v £# kK ® % o { A& B — 0.08AKi# — — 0.10 - — 008K — - 0.09 — 0.10 0.084it] 0,08 ng/0
Blx v % kB ¥ o £ A& B — — — — 0,024 — — - — — — — — — 0,024 ng/0
14 |0 i (4 23 % - — — — 0.0002A:]i — — - — — — — — — 0.0002Ai ng/0
15 |1 4- v + ¥ i v — — — — 0.005 A — — — — — — — — — 0.005A: 4w ng/0
16 AL AT T | 7 =1, v 7= 7 7 7 - UAUU"1K']$ o o o o o - o o . UAUU"1K']$ mg,/g
17 |2 7 o o A 4 v — — — — 0.002Ai — — — — — — — — — 0.002A: 4 ng/0
B8l +~ 3 v wm w = F L — — — — 0.001 A4 — — — — — — — — — 0.001 A0 mg/0
ol v o7 m om = F L — — — — 0.00 1A — — — — — — — — — 0.00 LA ng/0
20 |~ P2 + P — — — — 0.00 LA — — — — — — — — — 0.001 A ng/0
21 |4 ES it — 0064 — — 0.11 — — 006K — — 0.06A — 0.11 0064 0.06A ng/0
22 |7 = 5 i A — 0.002A:4 - — 0.002A]i — — 0.002A:4 — — 0.002A]i — 0.002Ai 0.00244li 0.002Ai ng/0
23 |7 o 5 * v A — 0.006 A — — 0.006A ] — — 0.006 A — — 0.006A]i — 0.006 A 0.006 A4t 0.006 A ng/0
24 [v s o = i3 A — 0.003 A - — 0.003A]i — — 0.003 A — — 0.003A]i — 0.003 A 0.003 A4l 0.003 A ng/0
»w|ly 7 m o= v m o owm A H v — 0.006 — — 0.009 — — 0.007 — — 0.005A: 4 — 0.009 0.005A 0.006 ng/0
26 |5t * it — 0.001 A - — 0.001 A — — 0.001 A — — 0.001 A — 0.00 1A 0.00 1Al 0.00 1A ng/0
27 | h Y N = 2 5 P — — — 0.02 — — 0.01 — — 0.0 LA — 0.02 0.0 1A 0.01 ng/0
28 [~ ] s =] & i it — — — 0.003A]i — — 0.003 A — — 0.003A]i — 0.003 A 0.003 Al 0.003 A ng/0
9|7 w = ¥ s wm o wm A K v — 0.003 A — — 0.004 — — 0.003 A — — 0.003A]i — 0.004 0.003 A 0.003 A ng/0
30 [7 =] = * v 2 — 0.005 A - — 0.005A i — — 0005 — — 0.005A]i — 0.005 A 0.005A4ili 0.005 A ng/0
31 | v N 7 v 7 k — 0.008 A - — 0.008Aii — — 0.008 A — — 0.008A]i — 0.008 A 0.008 Al 0.008 A ng/0
2l % Kk O o k A& @ — — — — 0.01 A — — - — — — — — — 0.01 A ng/0
B7 v I = A kB EOAED — 0.02:Ait5 — — 0.02A — — 0.02:Ait5 — — 0.08 — 0.08 0.02:Ait5 0.02 ng/0
34 |8k R vz e & o — — — — 0.03 A4l — — — — — — — — — 0.03A4l ng/0
Bl xR w2 o A& 0By - - - — 0.0 LA — — - - — -~ — — — 0.0 LA ng/0
36|77 P U v oA R U E O A Y — — — — 12 — — — — — — — — — 12 mg/0
|~ v H v R VB Ot A W — — — — 0.005 A — — — — — — — — — 0.005A i ng/0
: 16 16 17 17 16 15 15 15 16 15 16 17 17 15 16 mg/0
— — — — 35 — — — — — — — — — 35 mg/0
— — — — 80 — — — — — — — — — 80 mg/0
— — — — 0.0244l — — — — — — — — — 0.024 ng/0
42 | = ER A 3 P — — — — 0.000001 4 - — — — — — — — — 0.000001 Al ng/0
B3l A F L 4 YV K L x F = — — — - 0.000001 At - — — — — — — — — 0.000001 Al ng/0
4“4k 4 & v R oom W A - — — — 0.005A ] — - - — — — - — — 0.005 A ng/0
45 |7 - J — v il — — — 0.0005 A — — — — — — — 0.0005A i ng/0
BT (2RO BRF(TOC) 0 ) 0.4 0.3 0.3 0.5 0.5 0.3 0.3K ng/0
47 [p H it 7.0 7.2 7.1 7.3 7.3 6.9 7.1
48 3 gl Rl Hiial Hiial
49 |5 £ 7 HiL ;.
50 [ 3 LA LR LA LA LR LA LR LA i3
51 | 3 0. 1At 0. 1At 0. 1K 0. 1A 0. 1A 0. 1A 0. 1At 0. 1A 0. 14 0. 1A 0. 1A 0. 1At i
7% # [ # 0.5 0.4 0.4 0.4 0.4 0.5 0.5 0.4 0.5 0.6 0.4 0.5 mg/0




ARAERE N\FHEgKRE R KK KEEER (R #i R E

FAREH R R1.4.18 R1.5.24 R1.6.16 R4.7.19 R1.8.25 R4.9.15 R4.10.18 R4.11.17 R4.12.15 R5.1.24 R5.2.16 R5.3.16 i fE Sy HifiL
o [ i i i 29 £Y EY i i i [0 29 i
ET i i D) ifi ifi i ifi i D) = i
E i 14.0 22.8 23.0 23.5 24.0 26.0 14.0 8.5 2.2 L5 15.0 26.0 1.5 14.9 C
P i 14.7 18.3 20.3 24.3 25.8 25.9 20.7 15.4 12.0 7.5 11.8 25.9 7.5 17.1 C
1| % il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fi5/mo
PRES 15 i R A A g i A A g i A i A (-) (-) (—)
L v ot AW — - — — 0.0003 A — — - — — — — — — 0.0003 A mg/ 0
4|k R = o k. A& B — — — — 0.00005 4]l — — - — — — — — — 0.00005 4]l mg/Q
5 | L z o b & B — — — — 0.001 A — — — — — — — — — mg/ 0
6 |8 3 o * 2 (4 & [ — — — — 0.001 A — — - — — — — — — 0.001 Al mg/Q
e % RV 2 o & B — — — — 0.001 A — — - — — — — — — 0.001 Al mg/0
8 |~ L] U i A 9 o k2 — — — — 0.002A — — — — — — — — — 0.0024j mg/0
9 | i i3 & £ F# — — — — 0.004 A — — — — — — — — — mg/0
Wl 7 vt A4 v Rk O HE YT v — 0.001 A — — 0.001 A — — 0.001 A - — 0.001 A — 0.00 1Al 0.00 LA 0.00 1Al mg/0
NEEEEEREE T T T - 0.3 - - 0.3 - - 0.4 - - 0.5 — 0.5 0.3 0.4 mg/0
2|7 v # Kk U = o f & P — 0.08Aj — — 0.10 — — 0.09 — — 0.09 — 0.10 0.08Aj 0.084it] mg/0
BlA v % kK G Z 0o A& B - - — — 00254 — — -~ - — - — — — 0.02 K4 mg/0
14 [ H [ 1% Ed - - — — 0.00024i — — -~ - — - — — — 000023 mg/0
15 |1 s 4- v * * kA v — — — — 0.005 A — — — — — — — — — 0.005 A5 mg/0
16 [v%-1, 2-vrmuF LY RNV A1, 2-Y/anzFLy - — — — 0.004 A — — — — — — — — — 0.004 45 mg/0
17 [¥ s o = 2 4 P — - — — 0.00244l — — -~ — — — — — — 0.002 A4 mg/ 0
sl F 3 7 w #©m = F L v - - — — 0.00 1A — — - - — - — — — 0.001 K mg/0
19 [h Y 7 o o = 7 v > — — — — 0.001 A — — — — — — — — — 0.001 4 mg/0
20 [~ v + V| — — — — 0.001 A — — — — — — — — — mg/Q
21 |4 ES it — 0.06A — — 0.10 — — 0.06A - — 0064 — 0.10 0.06A 0064 mg/0
22 |7 = = i3 A - 0.002 — — 0.00244l — — 0.002A]i - — 0.002A:4 — 0.00244li 0.002Ai 0.00244l mg/0
23 |7 5 [ & v A — 0.006A 4 — — 0.006 A — — 0.006A: 4 — — 0.006 A — 0.006 43 0.006 47 mg/0
24 v s o = i3 A — 0.003A]i — — 0.003 A — — 0.003A] - — 0.003 A — 0.003 A4l 0.003A]i mg/0
%l 7 v o= s owm o owm A &Y — 0.005A]i — — 0005 — — 0.005A]i - — 0005 — 0.005A4ili 0.005 A 0.005A4il mg/ 0
26 |5t * it — 0.001 A — — 0.001 A — — 0.001 A - — 0.001 A — 0.00 1Al 0.00 1A 0.00 1Al mg/0
27 | h Y ~ o 2 4 P — 0.01 A — — 0.0 1A — — 0.01 A - — 0.0 1K — 0.0 1K 0.01 A 0.0 1K mg/ 0
28 [} Y s = o i3 A — 0.003A]i — — 0.003 A4l — — 0.003A]i - — 0.003 A — 0.003 A4l 0.003A]i mg/0
2wl = = Y s m w2 &Y — 0.003A]i — — 0.003 A — — 0.003A]i - — 0.003 A — 0.003 A4l 0.003 A 0.003 Al mg/0
30 |7 = B3 * v 2 — 0.005A]i — — 0005 — — 0.005A]i - — 0005 — 0.005A4ili 0.005 A 0.005A4ili mg/0
31 | v Iy 7 v 7 k — 0.008Aii — — 0.008 A — — 0.008Aii - — 0.008 A — 0.008 Al 0.008 A 0.008 Al mg/0
2l % kR O % o { & W — - — — 0.0 Al — — — — — — — — — 0.0 LA mg/ 0
B|I7 v I = v ARV Z O AE WY - 0.0244l — — 0.02:Ait5 — — 0,024 - — 0.02K# — 0.02K# 0,024 0.02K# mg/0
34 |8k 3 9 * 2 (4 & [ — — — — 0.034il5 — — — — — — — — — 0.034il5 mg/ 0
B8 & v o kA 0w - - — — 0.01 — — - - — - — — — 0.01 mg/0
6|7 U voA R U ZE O LAWY — — — — 8.9 — — — — — — — — — 8.9 mg/0
|~ v H v R OB o b & W — — — — 0.005A4ili — — — — — — — — — 0.005 A mg/ 0
38 [ it [ K * v 8.3 8.5 8.2 7.8 8.1 8.1 7.6 8.4 9.6 8.2 8.3 8.8 9.6 7.6 8.3 mg/0
9| vy A S Ry N () — — — — 28 — — — — — — — — — 28 mg/0
B 7% i 17 — — — — 80 — — — — — — — — — 80 mg/0
A4 4 v R @ & A - — — — 0.02K# — - - — — — -~ — — 0.02K# mg/ 0
= + =% 3 > - — — - 0.000001 A7 - - - - - - - — — 0.000001 £ mg/0
Ble- 2 F » 4 v K A~ x4+ — M — — — — 0.00000 LA - - - - - — - — — 0.00000 LAl me/0
4k 4 A o R om i A - — — — 0.005A: — - - — — — -~ — — 0.005A4ili mg/0
45 |7 = J — v H — — — 0.0005 A — — — — — — 0.0005Aiti mg/0
61T (& A KE(TOC) O ) 0.3 0.3t 0.3 0.3 0.4 0.3t 0.3 mg/0
47 [p H it 6.9 6.8 6.9 7.0 6.7 6.9
48 3 SR Higial Hiial
49 |5 S AL ;.
50 |5 3 i LA LA LA LR LR LA LA i3
51 | 3 0. 1At 0. 1A 0. 1A 0. 1At 0. 1At 0. 1K 0. 14 0. 1A 0. 14 0. 1A 0. 1A i3
7% [ H # 0.4 0.2 0.3 0.4 0.4 0.5 0.4 0.4 0.5 0.2 0.4 mg/0




DANAERE i R BORGR ReK AR RER () f R

FAREH R R1.4.18 R4.5.24 R1.6.16 R1.7.19 R4.8.25 R4.9.15 R4.10.18 R4.11.17 R4.12.15 R5.1.24 R5.2.16 R5.3.16 IR i fiel ) Hifr
o [ i i [ (Y 2y (Y [ [ i 2y 2 [
[ 4w i lih 29 [ i i lih 29 [ E i
E i 20.0 28.2 28.0 24.0 26.0 30.5 12.0 9.0 7.0 1.5 20.5 30.5 1.5 18.5 C
P i 14.8 18.8 20.7 24.0 26.1 25.7 16.6 12.7 9.0 8.2 11.9 26.1 8.2 17.4 C
1| % il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fiEl/me
PRES 15 i R A A A g i A g A A i (-) (-) (-)
s|n F I v oA R B Z 0t AW — — — — 0.0003 A — - — — — — — — 0.0003 A ng/0
1k B R B 2 o b A& W — — — — 0.00005Ai — — - — — — — — — 0.00005Ai ng/0
5| v v R O % o { A& B — — — — 0.00 1A — — — — — — — — — 0.001 A mg/0
6 |8 R S 2 it & 0w — — — — 0.00 1A — — - — — — — — — 0.00 LA ng/0
e % R U2 o f A& WY — — — — 0.00 1A — — - — — — — — — 0.00 1A ng/0
8 |~ fi s & 2 [ a [ — — — — 0.002Ai — — - — — — — — — 0.002Ai ng/0
9 | ity i i = % - — — — 0.004A]i — — - — — — — — — 0.004 A ng/0
Wl 7ok AF v kR OCK ALY 7T v - 0.00 1Al — — 0.001 A — — 0.001 A - — 0.001 A — 0.00 1A 0.00 1Al 0.00 1A ng/0
NEEEEEFFE YR T - 0.5 - - 0.4 - - 0.5 - - 0.5 — 0.5 0.4 0.5 mg/0
2|7 v # kR U o { & ® — 0.084it] — — 0.08 — — 0.084it] — — 0.08 — 0.08 0.084it] 0.08 ng/0
Bl v # kK ¥ %z o k & B — — — — 0,024 — — - — — — — — — 0,024 ng/0
14 |0 i (4 23 % - — — — 0.0002A:]i — — - — — — — — — 0.0002A mg/0
15 |1 , 4- v %+ * k2 P — — — — 0.005 A — — — — — — — — — 0.005 i ng/0
16 [v2-1, 2-Urru=F LY RURNIY A-1, 2-V/ua=F Ly — — — — 0.004 A — — — — — — — — — 0.004A: 4 ng/0
17 |[v 7 o =] £ K v — — — — 0.002 A — — - - — — — — — 0.002A]i ng/0
B8l + 3 v v v = F L v — — — — 0.001 A7 — — — — — — — — — 0.001 A ng/0
ok v v = B = F L — — — — 0.00 1A — — — — — — — — — 0.00 LA ng/0
20 |~ v + P — — — — 0.00 1A — — — — — — — — — 0.001 A ng/0
21 |4 ES it — 0.06:A# — — 0.06A — — 0.06:4%it5 - — 0.06A — 0.06A 0064 0.06A ng/0
22 |7 = 5 i A — 0.002A:4 — — 0.002A]i — — 0.002A:4 - — 0.002A]i — 0.002Ai 0.00244li 0.002Ai ng/0
23 |7 = = * v 2 — 0.006 A — — 0.006A]i — — 0.006 A - — 0.006A ] — 0.006 A 0.006 A4t 0.006Ai ng/0
24 | s o = i A — 0.003 A — — 0.003A] — — 0.003 A - — 0.003A]i — 0.003 A 0.003 A4l 0.003 A ng/0
%y 7 v = s v w2 & v - 0.005 A — — 0.005A]i — — 0005 - — 0.005A]i — 0.005 A 0.005A4ili 0.005 A ng/0
26 |5t * it — 0.001 A — — 0.001 A — — 0.001 A - — 0.001 A — 0.00 1A 0.00 1Al 0.00 1A ng/0
27 | h y N o £ Z P — 0.0 1K — — 0.01 A — — 0.0 LA - — 0.01 A — 0.01 A 0.0 1K 0.01 A ng/0
28 | b Y U o o i A - 0.003 A4l — — 0.003A]i — — 0.003 A4l - — 0.003A]i — 0.003 A 0.003 A4l 0.003 A ng/0
9|7 v = ¥ s wm w2 & v - 0.003 A — — 0.003A]i — — 0.003 A - — 0.003A]i — 0.003 A 0.003 A4l 0.003 A ng/0
30 [7 o 3 * v 2 - 0.005 A — — 0.005A]i — — 0005 - — 0.005A ] — 0.005 A 0.005A4ili 0.005 A ng/0
31 | v N 7 v 7 t I - 0.008 A — — 0.008Aii — — 0.008 A - — 0.008Aii — 0.008 A 0.008 Al 0.008 A ng/0
2| % K Oz o & @ — — — — 0.01 A — — - — — — — — — 0.01 A mg/0
B|7 v I = v A RV E 0 E W — — — — 0.0244l — — — — — — — — — 0.02 A4k mg/0
34 |8k K o z n 4 & (2 — 0.03Ai5 — — 0.03Aj — — 0.06 — — 0.03 — 0.06 0.03Ai5 0.03A ng/0
Bl KR 2 o kA B - - — — 0.01 — — - - — - — — — 0.01 mg/0
6|7 F U Y s R E 0 AD - - — — 9.1 — — - - — - — — — 9.1 mg/0
3|~ v H vy R VB % o b A& W — 0.005 A — — 0.005A]i — — 0005 - — 0.005A ] — 0.005 A 0.005A4ili 0.005 A ng/0
: 8.2 8.2 8.0 8.1 8.1 8.2 7.7 8.4 9.6 8.0 8.4 8.9 9.6 7.7 8.3 mg/0
— — — — 38 — — — — — — — — — 38 mg/0
— — — — 90 — — — — — — — — — 90 mg/0
— — — — 0.024%4l — — — — — — — — — 0.024 ng/0
— - - - 0.000001 At — - - — — — - — — 0.000001 Al ng/0
— - - - 0.000001 At — - - — — — - — — 0.000001 Al ng/0
- - - - 0.005A: 4 — - - — — — - — — 0.005 A ng/0
- - - 0.0005A 4 — — — — 0.0005 A ng/0
B KR (2 ERFE(TOC) O # 0.3t 0.3 0340 0.3t 0.3t 0.3K 0.3 0.3 K4 ng/0
47 [p H it ] 6.9 7.0 7.0 6.7 6.9
48 LS Sl Sl
49 |5 S AL
50 |5 53 LA LR LA LA 1 1 1 JESL LA i3
51 | 3 0. 1At 0. 1A 0. 1At 0. 1At 0. 1K 0. 1A 0. 1A 0. 14 0. 1At 0. 1A 0. 14 0. 1At i
7% # [ * 0.3 0.3 0.2 0.3 0.4 0.4 0.5 0.5 0.6 0.6 0.2 0.4 mg/0




DRIAENE SfRgo kY% feK AERRER () iR

INEEEIR TR
FAREH R R4.4.19 R4.5.26 R4.6.20 R4.7.21 R4.8.29 R1.9.20 R4.10.20 R4.11.21 R4.12.19 R5.1.26 R5.2.20 R5.3.23 IR i fiel ) Hifr
o [ wim i 2y i [ i 2y i 2y i % i [
IEET i [ (Y [ i ifi i [ i [ i ifi

E i 16.0 25.0 25.0 24.0 24.0 19.3 13.5 14.0 2.0 1.0 5.0 17.0 25.0 1.0 15.5 C
P i 14.2 21.5 22.7 25.6 25.0 26.1 17.9 12.9 7.4 8.0 6.3 12.1 26.1 6.3 16.6 C
1| % il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fiEl/me

PRES 15 i R A g i A A g i A i A A (-) (—) (-)
s F 3 v oa R U Z 0 A& WY — — — — 0.0003 A — — - — — — — — — 0.0003 A ng/0
1k B/ R U oz o & & P — — — — 0.00005Ai — — - — — — — — — 0.00005Ai ng/0
5|2 v v R OV %2 o kb & B — — — — 0.00 1A — — — — — — — — — 0.001 A ng/0
6 |8 R ¢ & o & o — — — — 0.001 A — — - — — — — — — 0.00 1A ng/0
7l # R OV 2 o b & B — — — — 0.00 1A — — - — — — — — — 0.00 1A ng/0
8 & fi U i A e & 0w — — — — 0.002A]i — — - — — — — — — 0.002Ai ng/0
9 | I} i3 i e * - — — — 0.004A]i — — - — — — — — — 0.004A]i ng/0
0| 7 v b A4 v R OHEH LY 7 v — 0.00 1Al — — 0.001 A — — 0.001 A - — 0.001 A — 0.00 LA 0.00 1Al 0.00 1A ng/0
N EEFEYE YT EE - 0.1 - - 0.2 - - 0.3 - - 0.3 — 0.3 0.1 0.2 mg/0
127 v £# kK ® % o { A& B - 0.09 - - 0.11 — — 0.084it] - - 0.08 A — 0.11 0.08Ki# 0,08 ng/0
Blx v % kB ¥ o £ A& B — — — — 0,024 — — - — — — — — — 0,024 ng/0
14 |0 i (4 I3 % - — — — 0.0002A:]i — — - — — — — — — 0.0002Ai ng/0
15 |1 1- v + ¥ i v — — — — 0.005 A — — — — — — — — — 0.005A: 4w ng/0
16 AL AT T 7 =1, v 7= 7 7 — - UUU‘iK'}% o o o - o - o o . UUU‘iK'}% mg,/Q
17 |2 7 o o A 4 v — — — — 0.002Ai — — — — — — — — — 0.002A: 4 ng/0
B8l +~ 3 v wm w = F L — — — — 0.001 A4 — — — — — — — — — 0.001 A0 mg/0
wlr v o7 mr B =z F v — — — — 0.00 1A — — — — — — — — — 0.00 LA ng/0
20 |~ P2 + P — — — — 0.00 LA — — — — — — — — — 0.001 A ng/0
21 |4 ES it — 0064 — — 0.06A — — 0.06:4%it5 - — 0.06A — 0.06A 0064 0.06A ng/0
22 |7 = 5 i A — 0.002A:4 — — 0.002A]i — — 0.002A:4 - — 0.002A]i — 0.002Ai 0.00244li 0.002Ai ng/0
23 |7 o 5 * v A — 0.006 A — — 0.006A ] — — 0.006 A - — 0.006A]i — 0.006 A 0.006 A4t 0.006 A ng/0
24 [v s o =] i3 A - 0.003 A4l — — 0.003A]i — — 0.003 A - — 0.003A]i — 0.003 A 0.003 A4l 0.003 A ng/0
»w|ly 7 m o= v m o owm A H v - 0.005 A — — 0.005A ] — — 0005 - — 0.005A ] — 0.005 A 0.005A4il 0.005 A ng/0
26 |5t * it — 0.001 A — — 0.001 A — — 0.001 A - — 0.001 A — 0.00 1A 0.00 1Al 0.00 1A ng/0
27 | h ] ~ o 2 4 > - 0.0 1K — — 0.01 A — — 0.0 1A - — 0.01 A — 0.01 A 0.0 1K 0.01 A ng/0
28 [~ ] s = = i A - 0.003 K — — 0.003 A — — 0.003 A - — 0.003A]i — 0.003 A 0.003 Al 0.003 A ng/0
9|7 v = v s m v 2 x v - 0.003 A — — 0.003A]i — — 0.003 A - — 0.003A]i — 0.003 A 0.003 A4l 0.003 A ng/0
30 [7 =] = * v 2 — 0.005 A — — 0.005A i — — 0005 - — 0.005A]i — 0.005 A 0.005A4ili 0.005 A ng/0
31 | v Iy 7 v 7 k — 0.008 A — — 0.008Aii — — 0.008 A - — 0.008A]i — 0.008 A 0.008 Al 0.008 A ng/0
2l % Kk O o k A& @ — — — — 0.01 A — — - — — — — — — 0.01 A ng/0
B|7 I =y AR E O AEW — — — — 0.0244l — — — — — — — — — 0.02 A4 ng/0
34 |8k R ¢ & o & o — 003K — — 0.03 A4 — — 0.03Ai5 - — 0.03 A4 — 0.03 A4 003K 0.03 A4 ng/0
35 |8 R vz R4 & o — — — — 0.0 1A — — — — — — — — — 0.0 1A ng/0
36|77 P U v oA R U E O A Y — — — — 12 — — — — — — — — — 12 mg/0
3|~ v H v R VO o b A W - 0.005A4ili — — 0.005A i — — 0005 - — 0.005A]i — 0.005 A 0.005A4ili 0.005 A ng/0
: 11 11 11 11 11 11 10 11 12 11 12 11 12 10 11 mg/0
- 66 - - 73 - - 73 - - 79 - 79 66 73 mg/0
- 100 - - 120 - - 100 - - 120 - 120 100 110 mg/0
— — — — 0.0244l — — — — — — — — — 0.024 ng/0
42 | = ER A 3 P — — — — 0.000001 4 - — — — — — — — — 0.000001 Al ng/0
B3l A F L 4 YV K L x F = — — — - 0.000001 At - — — — — — — — — 0.000001 Al ng/0
4“4k 4 & v R oom W A - — — — 0.005A ] — - - — — — - — — 0.005 A ng/0
45 |7 - J — v il — — 0.0005 A — — — — — — — — — 0.0005A i ng/0
BT (2RO BRF(TOC) 0 ) 0.3 0.3t 0.3K 0.3 0.3t 0.4 0.3 0.3K ng/0

47 [p H it 7.6 7.3 7.6 7.2 7.4

48 LS B Sl
49 |5 S 7 AL

50 [ 3 LA LR LA LA LA LR LA i3
51 | 3 0. 1At 0. 1A 0. 1A 0. 1At 0. 1A 0. 1A 0. 1At 0. 1At 0. 1A 0. 1A 0. 1At i3
7% # [ # 0.3 0.3 0.3 0.2 0.3 0.4 0.4 0.4 0.4 0.2 0.3 mg/0




DAEE EAOKY R AaK ARE R () # R E

FAREH R R1.4.12 R4.5.19 R1.6.13 R1.7.12 R4.8.18 R1.9.12 R4.10.13 R4.11.14 R4.12.12 R5.1.19 R5.2.13 R5.3.13 IR i fiel ) Hifr
o [ wim i i &Y i ] i &Y 5} ] &Y i i
IET i [0 2 D) 2 [0 2 D) i [0 ifi D)
E i 27.0 28.0 22.5 31.0 29.0 31.0 22.0 14.0 10.0 9.0 8.0 8.0 31.0 8.0 20.0 C
P i 14.1 17.2 20.1 25.2 26.0 25.2 20.0 16.8 12.9 8.2 7.8 10.0 26.0 7.8 17.0 C
1| % il i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 fiEl/me
PRES 15 i R A g i A A g i A i A A (-) (—) (-)
s F 3 v oa R U Z 0 A& WY — — — — 0.0003 A — — - — — — — — — 0.0003 A ng/0
1k B/ R U oz o & & P — — — — 0.00005Ai — — - — — — — — — 0.00005Ai ng/0
5|2 v v R OV %2 o kb & B — — — — 0.00 1A — — — — — — — — — 0.001 A ng/0
6lsn R ¥ 2 o A& B - - — — 0.001 — — - - — - — — — 0.001 mg/0
7l # R OV 2 o b & B — — — — 0.00 1A — — - — — — — — — 0.00 1A ng/0
8 & fi U i A e & 0w — — — — 0.002A]i — — - — — — — — — 0.002Ai ng/0
9 | I} i3 i e * - — — — 0.004A]i — — - — — — — — — 0.004A]i ng/0
0| 7 v b A4 v R OHEH LY 7 v — 0.001 A - — 0.001 A — — 0.001 A — — 0.001 A — 0.00 LA 0.00 1Al 0.00 1A ng/0
N EEFEYE YT EE - 0.5 - - 0.2 - - 0.5 - - 0.8 - 0.8 0.2 0.5 mg/0
127 v £# kK ® % o { A& B — 0.08AKi# - — 0.08 A - -~ 0.084it] — - 0.10 — 0.10 0.084it] 0,08 ng/0
Blx v % kB ¥ o £ A& B — — — — 0,024 — — - — — — — — — 0,024 ng/0
14 |0 i (4 I3 % - — — — 0.0002A:]i — — - — — — — — — 0.0002Ai ng/0
15 |1 1- v + ¥ i v — — — — 0.005 A — — — — — — — — — 0.005A: 4w ng/0
16 AL AT T 7 =1, v 7= 7 7 7 - UUU‘iK'}% o o o o o - o o . UUU‘iK'}% mg,/Q
17 |2 7 o o A 4 v — — — — 0.002Ai — — — — — — — — — 0.002A: 4 ng/0
B8l +~ 3 v wm w = F L — — — — 0.001 A4 — — — — — — — — — 0.001 A0 mg/0
wlr v o7 mr B =z F v — — — — 0.00 1A — — — — — — — — — 0.00 LA ng/0
20 |~ P2 + P — — — — 0.00 LA — — — — — — — — — 0.001 A ng/0
21 |4 ES it — 0064 - — 0.06A — — 0.06:4%it5 — — 0.06A — 0.06A 0064 0.06A ng/0
22 |7 = 5 i A — 0.002A:4 - — 0.002A]i — — 0.002A:4 — — 0.002A]i — 0.002Ai 0.00244li 0.002Ai ng/0
23 |7 o 5 * v A — 0.006 A — — 0.006A ] — — 0.006 A — — 0.006A]i — 0.006 A 0.006 A4t 0.006 A ng/0
24 [v s o =] i3 A - 0.003 A4l — — 0.003A]i — — 0.003 A — — 0.003A]i — 0.003 A 0.003 A4l 0.003 A ng/0
»w|ly 7 m o= v m o owm A H v - 0.005 A - — 0.005A ] — — 0005 — — 0.005A ] — 0.005 A 0.005A4il 0.005 A ng/0
26 |5t * it — 0.001 A - — 0.001 A — — 0.001 A — — 0.001 A — 0.00 1A 0.00 1Al 0.00 1A ng/0
27 | h ] ~ o 2 4 > - 0.0 1K - — 0.01 A — — 0.0 1A — — 0.01 A — 0.01 A 0.0 1K 0.01 A ng/0
28 [~ ] s = = i A - 0.003 K - — 0.003 A — — 0.003 A — — 0.003A]i — 0.003 A 0.003 Al 0.003 A ng/0
9|7 v = v s m v 2 x v - 0.003 A - — 0.003A]i — — 0.003 A — — 0.003A]i — 0.003 A 0.003 A4l 0.003 A ng/0
30 [7 =] = * v 2 — 0.005 A - — 0.005A i — — 0005 — — 0.005A]i — 0.005 A 0.005A4ili 0.005 A ng/0
31 | v Iy 7 v 7 k — 0.008 A - — 0.008Aii — — 0.008 A — — 0.008A]i — 0.008 A 0.008 Al 0.008 A ng/0
2l % Kk O o k A& @ — — — — 0.01 A — — - — — — — — — 0.01 A ng/0
B7 v I = Ak VB EONAEY — — — — 0.0244l — — — — — — — — — 0.024 ng/0
34 |8k R vz e & o — — — — 0.03 A4l — — — — — — — — — 0.03A4l ng/0
Bl kR B 2 o k. A 0B - - - — 0.01 — — - - — - — — — 0.01 mg/0
36|77 P U v oA R U E O A Y — — — — 11 — — — — — — — — — 11 mg/0
|~ v H v R VB Ot A W — — — — 0.005 A — — — — — — — — — 0.005A i ng/0
: 12 12 12 12 11 9.3 9.4 11 11 13 16 13 16 9.3 12 mg/0
- 30 - - 54 - - 47 - - 43 - 54 30 44 mg/0
- 90 - - 90 - - 90 - - 100 - 100 90 93 mg/0
— — — — 0.0244l — — — — — — — — — 0.024 ng/0
42 | = ER A 3 P — — — — 0.000001 4 - — — — — — — — — 0.000001 Al ng/0
B3l A F L 4 YV K L x F = — — — - 0.000001 At - — — — — — — — — 0.000001 Al ng/0
4“4k 4 & v R oom W A - — — — 0.005A ] — - - — — — - — — 0.005 A ng/0
45 |7 - J — v il — — — 0.0005 A — — — — — — — — — 0.0005A i ng/0
BT (2RO BRF(TOC) 0 ) 0.4 0.4 0.4 0.6 0.3t 0.3 0.6 0.3 0.3 mg/0
47 [p H it 7.1 6.8 7.1 7.2 7.4 6.8 7.1
48 % WL B Sl HiL
49 |5 £ 7 HiL ;.
50 [ 3 LA LR LA LA LR LA LR LA i3
51 | 3 0. 1At 0. 1At 0. 1K 0. 1A 0. 1A 0. 1A 0. 1At 0. 1A 0. 14 0. 1A 0. 1A 0. 1At i
7% # [ # 0.4 0.4 0.4 0.5 0.5 0.6 0.5 0.5 0.6 0.6 0.4 0.5 mg/0




